Bid Committee Bid Tab

City Clerk

Bid OCAT WRWA 2208 Ended At Feb 1, 2023 10:00:00 AM CST CONSTRUCTION/OCAT - South Campus Asphalt Paving Repairs & Rehabilitation for OCAT

	Ellsworth Construction OKC dba Atech Paving	T.J. Campbell Construction Co.	
WRWA 2208: Base Bid Items	\$2,191,898.09	\$1,957,436.50	
ALTERNATE #1 BID	\$2,080,648.95	\$3,008,440.65	
TOTAL BID:	\$4,272,547.04	\$4,965,877.15	

Tresha Williams	_ Angee Wagner	Randall Daniel
City Clerk	Procurement	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCAT WRWA 2208 - South Campus Asphalt Paving Repairs & Rehabilitation for OCAT

Creation Date Nov 30, 2022 End Date Feb 1, 2023 10:00:00 AM CST

Start Date Dec 16, 2022 7:42:11 AM CST Awarded Date Not Yet Awarded

OCAT WRWA 220801-01 WRWA 2208: Base Bid Items: UNCLASSIFIED EXCAVATION (CUT)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$33.00	2088 / cubic yard	\$68,904.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$40.20	2088 / cubic yard	\$83,937.60		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 220801-02 WRWA 2208: Base Bid Items: EMBANKMENT (FILL)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$55.00	84 / cubic yard	\$4,620.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$65.00	84 / cubic yard	\$5,460.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 220801-03 WRWA 2208: Base Bid Items: SUBGRADE (12" PREPARED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.25	12787 / square yard	\$41,557.75		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$5.00	12787 / square yard	\$63,935.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 220801-04 WRWA 2208: Base Bid Items: AGGREGATE BASE (6" ODOT TYPE A)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$95.00	2131 / cubic yard	\$202,445.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$110.00	2131 / cubic yard	\$234,410.00		Υ					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

OCAT WRWA 220801-05 WRWA 2208: Base Bid Items: ASPHALTIC CONCRETE -TYPE S3 (3-INCHES)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.		First Offer - \$141.00	3614 / ton	\$509,574.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving		First Offer - \$168.56	3614 / ton	\$609,175.84		Y				
Product Code:		Supplier Product Code:								
Agency Notes:			Supplier Notes:							

OCAT WRWA 220801-06 WRWA 2208: Base Bid Items: ASPHALTIC CONCRETE -TYPE S4 (2-INCHES)							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$154.00	1660 / ton	\$255,640.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$176.01	1660 / ton	\$292,176.60		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

OCAT WRWA 220801-07 WRWA 2208: Base Bid Items: PORTLAND CEMENT CONCRETE PAVEMENT (8")										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$105.00	156 / square yard	\$16,380.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
T.J. Campbell Construction Co.		First Offer - \$157.00	156 / square yard	\$24,492.00		Y				
Product Code:			Supplier Product Code	:						
Agency Notes:			Supplier Notes:							

OCAT WRWA 220801-08 WRWA 2208: Base Bid Items: CURB & GUTTER										
Supplier	ι	Jnit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer	- \$55.75	115 / linear foot	\$6,411.25		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
T.J. Campbell Construction Co.	First Offer	- \$57.00	115 / linear foot	\$6,555.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							

OCAT WRWA 220801-09 WRWA 2208: Base Bid Items: BITUMINOUS BINDER (PRIME COAT)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.		First Offer - \$1.50	3197 / gallon	\$4,795.50		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving		First Offer - \$14.50	3197 / gallon	\$46,356.50		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							

OCAT WRWA 220801-10 WRWA 2208: Base Bid Items: TACK COAT								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.		First Offer - \$6.75	3836 / gallon	\$25,893.00		Y		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$11.00	3836 / gallon	\$42,196.00		Υ		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					

OCAT WRWA 2208–01-11 WRWA 2208: Base Bid Items: CONCRETE FLUME									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$184.00	20 / square yard	\$3,680.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$295.50	20 / square yard	\$5,910.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-12 WRWA 2208: Base Bid Items: REINFORCED CONCRETE PIPE (18")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$106.50	200 / linear foot	\$21,300.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$135.00	200 / linear foot	\$27,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 2208–01-13 WRWA 2208: Base Bid Items: REINFORCED CONCRETE ARCH PIPE (29"X18")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$160.50	200 / linear foot	\$32,100.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$165.00	200 / linear foot	\$33,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-14 WRWA 2208: Base Bid Items: REINFORCED CONCRETE ARCH PIPE (36"X23")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$171.00	372 / linear foot	\$63,612.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$177.50	372 / linear foot	\$66,030.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–01-15 WRWA 2208: Base Bid Items: REINFORCED CONCRETE ARCH PIPE END SECTION (36"X23")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$2,400.00	1 / each	\$2,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,450.00	1 / each	\$2,450.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–01-16 WRWA 2208: Base Bid Items: DESIGN# 7-1 (4 GRATES) INLET COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$7,400.00	1 / each	\$7,400.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–01-17 WRWA 2208: Base Bid Items: DESIGN# 7-2 (6 GRATES) INLET COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$11,000.00	1 / each	\$11,000.00		Υ				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$12,750.00	1 / each	\$12,750.00		Υ				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-18 WRWA 2208: Base Bid Items: DESIGN# 7-3 (8 GRATES) INLET COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$13,200.00	2 / each	\$26,400.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$16,000.00	2 / each	\$32,000.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-19 WRWA 2208: Base Bid Items: TYPE I-A PLAN RIPRAP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$92.50	500 / ton	\$46,250.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$109.00	500 / ton	\$54,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-20 WRWA 2208: Base Bid Items: TYPE I-A FILTER BLANKET									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$71.00	100 / ton	\$7,100.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$107.50	100 / ton	\$10,750.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–01-21 WRWA 2208: Base Bid Items: CONSTRUCTION STAKING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$10,500.00	1 / lump sum	\$10,500.00		Υ				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$42,000.00	1 / lump sum	\$42,000.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-22 WRWA 2208: Base Bid Items: MOBILIZATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$128,000.00	1 / lump sum	\$128,000.00		Υ				
Product Code:	Supplier Product (Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$245,000.00	1 / lump sum	\$245,000.00		Υ				
Product Code:	Supplier Product (Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-23 WRWA 2208: Base Bid Items: CONCRETE PAVEMENT REMOVAL									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	П	First Offer - \$27.00	32 / square yard	\$864.00		Υ			
Product Code:			Supplier Product Cod	e:					
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$28.50	32 / square yard	\$912.00		Υ			
Product Code:		Supplier Product Cod	e:						

Agency Notes: Supplier Notes:

OCAT WRWA 220801-24 WRWA 2208: Base Bid Items	: A	SPHALT PAVEME	NT	REMOVAL			
Supplier		Unit Pri	ce	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$8.0	0	12787 / square yard	\$102,296.00		Y
Product Code:				Supplier Product Code:			
Agency Notes:				Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$9.2	:5	12787 / square yard	\$118,279.75		Y
Product Code:				Supplier Product Code:			
Agency Notes:				Supplier Notes:			

OCAT WRWA 220801-25 WRWA 2208: Base Bid Items: REMOVE CURB AND GUTTER								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$15.90	122 / linear foot	\$1,939.80		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$16.00	122 / linear foot	\$1,952.00		Υ		
Product Code:			Supplier Product Cod	le:				
Agency Notes:			Supplier Notes:					

OCAT WRWA 220801-26 WRWA 2208: Base Bid Items: SAWCUT PAVEMENT								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.		First Offer - \$3.00	8650 / linear foot	\$25,950.00		Y		
Product Code:			Supplier Product Code					
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$3.75	8650 / linear foot	\$32,437.50		Y		
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220801-27 WRWA 2208: Base Bid Items: TEMPORARY SURFACING (TYPE "B" AGGREGATE)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$60.50	642 / ton	\$38,841.00		Y		
Product Code:			Supplier Product C	Code:				
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$101.00	642 / ton	\$64,842.00		Υ		
Product Code:			Supplier Product C	Code:				
Agency Notes:			Supplier Notes:					

OCAT WRWA 220801-28 WRWA 2208: Base Bid Items: ADA CURB RAMP								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$65.00	68 / square foot	\$4,420.00		Y			
Product Code:	Supplier Product Cod							
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$113.00	68 / square foot	\$7,684.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:	Supplier Notes:							

OCAT WRWA 220801-29 WRWA 2208: Base Bid Items: TACTILE MARKERS/TRUNCATED DOMES									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.		First Offer - \$34.00	84 / square foot	\$2,856.00		Υ			
Product Code:			Supplier Product Cod	e:					
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$57.00	84 / square foot	\$4,788.00		Υ			

bid #OCAT WRWA 2208 -South Campus Asphalt

City of Oklahoma City and its Trusts

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

OCAT WRWA 220801-30 WRWA 2208: Base Bid Items: SOLID SLAB SODDING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$5.00	10957 / square yard	\$54,785.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5.50	10957 / square yard	\$60,263.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-31 WRWA 2208: Base Bid Items: SILT FENCE									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$4.25	5000 / linear foot	\$21,250.00		Υ			
Product Code:			Supplier Product Code	:					
Agency Notes:			Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$7.25	5000 / linear foot	\$36,250.00		Υ			
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220801-32 WRWA 2208: Base Bid Items: ROCK BAG CURB INLET BARRIER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$150.00	2 / each	\$300.00		Υ				
Product Code:	Supplier Product (Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,450.00	2 / each	\$2,900.00		Υ				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208-01-33 WRWA 2208: Base Bid Items: ROCK BAG CHECK DAM									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$186.00	6 / each	\$1,116.00		Y				
Product Code:	Supplier Product (Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,850.00	6 / each	\$11,100.00		Y				
Product Code:	Supplier Product (Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208-01-34 WRWA 2208: Base Bid Items: SOLID STATE DIGITAL INDUCTIVE LOOP VEHICLE DETECTOR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$550.00	4 / each	\$2,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$600.00	4 / each	\$2,400.00		Y			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220801-35 WRWA 2208: Base Bid Items: 1 1/2" TRAFFIC SIGNAL CONDUIT (TRENCHED)							
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$49.00	60 / linear foot		\$2,940.00		Υ
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

Ellsworth Construction OKC dba Atech Paving	First Offer	- \$52.00	60 / linear foot	\$3,120.00	Y
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		

OCAT WRWA 220801-36 WRWA 2208: Base Bid Items: TWO CONDUCTOR SHIELDED LOOP DETECTOR LeachD-IN CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$6.00	100 / linear foot	\$600.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9.50	100 / linear foot	\$950.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes: Supplier Notes:								

OCAT WRWA 2208–01-37 WRWA 2208: Base Bid Items: LOOP DETECTOR WIRE(AWG NO. 14)(STRANDED COPPER)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.		First Offer - \$18.00	200 / linear foot	\$3,600.00		Y		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$19.25	200 / linear foot	\$3,850.00		Υ		
Product Code:		Supplier Product Code:						
Agency Notes: Supplier Notes:								

OCAT WRWA 220801-38 WRWA 2208: Base Bid Items: TRAFFIC STRIPE (PLASTIC) (4 INCH WIDE SOLID) (WHITE)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2.50	2200 / linear foot	\$5,500.00		Υ		
Product Code:			Supplier Product Code	: :				
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$2.75	2200 / linear foot	\$6,050.00		Υ		
Product Code: Supplier Product Code:								
Agency Notes:			Supplier Notes:					

OCAT WRWA 220801-39 WRWA 2208: Base Bid Items: TRAFFIC STRIPE (PLASTIC) (4 INCH WIDE SOLID) (YELLOW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.50	8524 / linear foot	\$21,310.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2.75	8524 / linear foot	\$23,441.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCAT WRWA 2208–01-40 WRWA 2208: Base Bid Items: TRAFFIC STRIPE (PLASTIC) (ADA WHEEL CHAIR square yardMBOLS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,250.00	2 / each	\$2,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,400.00	2 / each	\$2,800.00		Υ		
Product Code:		Supplier Product (Code:				
Agency Notes: Supplier Notes:							

OCAT WRWA 2208–01-41 WRWA 2208: Base Bid Items: CONSTRUCTION SIGNING AND TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Y			
Product Code:		Supplier Product (Code:					

Agency Notes:	Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$14,000.00	1 / lump sum	\$14,000.00	Y
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

OCAT WRWA 2208–02-01 ALTERNATE #1 BID: UNCLASSIFIED EXCAVATION (CUT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$32.15	3000 / cubic yard	\$96,450.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$43.00	3000 / cubic yard	\$129,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220802-02 ALTERNATE #1 BID: EMBANKMENT (FILL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$31.00	84 / cubic yard	\$2,604.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$65.00	84 / cubic yard	\$5,460.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220802-03 ALTERNATE #1 BID: SUBGRADE (12" PREPARED)									
Supplier	Unit Pr	ce Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.	95 12787 / square yard	\$37,721.65		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$6.	50 12787 / square yard	\$83,115.50		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–02-04 ALTERNATE #1 BID: AGGREGATE BASE (6" ODOT TYPE A)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$90.90	2131 / cubic yard	\$193,707.90		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$122.50	2131 / cubic yard	\$261,047.50		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–02-05 ALTERNATE #1 BID: CONCRETE FLUME									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$245.00	20 / square yard	\$4,900.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$295.50	20 / square yard	\$5,910.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220802-06 ALTERNATE #1 BID: P.C. CONCRETE PAVEMENT (PLACEMENT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$15.00	12787 / square yard	\$191,805.00		Υ			

Product Code:	Supplier Product Cod	e:	
Agency Notes:	Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$60.00 12787 / square yard	\$767,220.00	Y
Product Code:	Supplier Product Cod	e:	
Agency Notes:	Supplier Notes:		

OCAT WRWA 220802-07 ALTERNATE #1 BID: P.C. CONCRETE FOR PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$218.75	2374 / cubic yard	\$519,312.50		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$289.00	2374 / cubic yard	\$686,086.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–02-08 ALTERNATE #1 BID: REINFORCED CONCRETE PIPE (18")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$106.50	200 / linear foot	\$21,300.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$135.00	200 / linear foot	\$27,000.00		Υ				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220802-09 ALTERNATE #1 BID: REINFORCED CONCRETE ARCH PIPE (29"X18")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$160.50	200 / linear foot	\$32,100.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$165.00	200 / linear foot	\$33,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–02-10 ALTERNATE #1 BID: REINFORCED CONCRETE ARCH PIPE (36"X23")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$171.00	372 / linear foot	\$63,612.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$177.50	372 / linear foot	\$66,030.00		Υ				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220802-11 ALTERNATE #1 BID: REINFORCED CONCRETE ARCH PIPE END SECTION (36"X23")								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer	- \$2,400.00	1 / each	\$2,400.00		Υ		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer	- \$2,450.00	1 / each	\$2,450.00		Υ		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					

OCAT WRWA 220802-12 ALTERNATE #1 BID: DESIGN# 7-1 (4 GRATES) INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

T.J. Campbell Construction Co.		First Offer - \$7,400.00	1 / each	\$7,400.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$10,000.00	1 / each	\$10,000.00	Υ
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		

OCAT WRWA 2208–02-13 ALTERNATE #1 BID: DESIGN# 7-2 (6 GRATES) INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$11,000.00	1 / each	\$11,000.00		Υ			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$12,750.00	1 / each	\$12,750.00		Υ			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 2208–02-14 ALTERNATE #1 BID: DESIGN# 7-3 (8 GRATES) INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$13,200.00	2 / each	\$26,400.00		Υ			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$16,000.00	2 / each	\$32,000.00		Υ			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220802-15 ALTERNATE #1 BID: TYPE I-A PLAIN RIPRAP								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$92.50	500 / ton	\$46,250.00		Υ			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$120.00	500 / ton	\$60,000.00		Υ			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 220802-16 ALTERNATE #1 BID: TYPE I-A FILTER BLANKET								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$86.00	100 / ton	\$8,600.00		Υ			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$107.50	100 / ton	\$10,750.00		Υ			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						

OCAT WRWA 2208–02-17 ALTERNATE #1 BID: CONCRETE CURB (6" BARRIER-INTEGRAL)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.		First Offer - \$10.00	8650 / linear foot	\$86,500.00		Υ			
Product Code:			Supplier Product Code	e:					
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$13.75	8650 / linear foot	\$118,937.50		Υ			
Product Code:			Supplier Product Code	e:					
Agency Notes:			Supplier Notes:						

OCAT WRWA 220802-18 ALTERNATE #1 BID: CONSTRUCTION STAKING							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$14,975.00	1 / lump sum	\$14,975.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$49,000.00	1 / lump sum	\$49,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

OCAT WRWA 220802-19 ALTERNATE #1 BID: REINFORCING STEEL								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.		First Offer - \$1.45	30727 / pound	\$44,554.15		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2.00	30727 / pound	\$61,454.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					

OCAT WRWA 220802-20 ALTERNATE #1 BID: MOBILIZ	ATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$227,000.00	1 / lump sum	\$227,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$260,000.00	1 / lump sum	\$260,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

OCAT WRWA 2208–02-21 ALTERNATE #1 BID: CONCRETE PAVEMENT REMOVAL									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.		First Offer - \$55.00	32 / square yard	\$1,760.00		Y			
Product Code:			Supplier Product Cod	e:					
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$60.00	32 / square yard	\$1,920.00		Y			
Product Code:			Supplier Product Cod	e:					
Agency Notes:			Supplier Notes:						

OCAT WRWA 2208–02-22 ALTERNATE #1 BID: ASPHALT PAVEMENT REMOVAL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$7.50	12787 / square yard	\$95,902.50		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9.25	12787 / square yard	\$118,279.75		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–02-23 ALTERNATE #1 BID: REMOVE CURB AND GUTTER									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.		First Offer - \$6.00	8650 / linear foot	\$51,900.00		Y			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$6.00	8650 / linear foot	\$51,900.00		Y			
Product Code:			Supplier Product Code	:					
Agency Notes:			Supplier Notes:						

OCAT WRWA 220802-24 ALTERNATE #1 BID: SAWCUT PAVEMENT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$12.00	84 / linear foot	\$1,008.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$16.00	84 / linear foot	\$1,344.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

OCAT WRWA 2208–02-25 ALTERNATE #1 BID: TEMPORARY SURFACING (TYPE "B" AGGREGATE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$60.50	642 / ton	\$38,841.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$122.00	642 / ton	\$78,324.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 220802-26 ALTERNATE #1 BID: ADA CURB RAMP										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$65.00	68 / square foot	\$4,420.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$128.00	68 / square foot	\$8,704.00		Y					
Product Code:		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

OCAT WRWA 220802-27 ALTERNATE #1 BID: TACTILE MARKERS/TRUNCATED DOMES										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$57.00	84 / square foot	\$4,788.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$107.00	84 / square foot	\$8,988.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 220802-28 ALTERNATE #1 BID: SOLID SLAB SODDING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$5.00	10957 / square yard	\$54,785.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5.50	10957 / square yard	\$60,263.50		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 220802-29 ALTERNATE #1 BID: SILT FENCE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.25	3815 / linear foot	\$16,213.75		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$7.00	3815 / linear foot	\$26,705.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 220802-30 ALTERNATE #1 BID: INLET PROTECTION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$150.00	8 / each	\$1,200.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$500.00	8 / each	\$4,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 220802-31 ALTERNATE #1 BID: SILT DYKE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$185.00	18 / each	\$3,330.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$940.00	18 / each	\$16,920.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OCAT WRWA 2208–02-32 ALTERNATE #1 BID: TEMPORARY CONSTRUCTION ENTRANCE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7,275.00	1 / each	\$7,275.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCAT WRWA 2208–02-33 ALTERNATE #1 BID: SOLID STATE DIGITAL INDUCTIVE LOOP VEHICLE DETECTOR									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$550.00	4 / each	\$2,200.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$590.00	4 / each	\$2,360.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 2208–02-34 ALTERNATE #1 BID: 1 1/2" TRAFFIC SIGNAL CONDUIT (TRENCHED)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.		First Offer - \$48.00	60 / linear foot	\$2,880.00		Y				
Product Code:		Supplier Product Code:								
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving		First Offer - \$51.00	60 / linear foot	\$3,060.00		Y				
Product Code:		Supplier Product Code:								
Agency Notes:			Supplier Notes:							

OCAT WRWA 2208–02-35 ALTERNATE #1 BID: TWO CONDUCTOR SHIELDED LOOP DETECTOR LeachD-IN CABLE										
Supplier	Unit Price	Attch.	Docs							
T.J. Campbell Construction Co.	First Offer - \$6.00	100 / linear foot	\$600.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9.00	100 / linear foot	\$900.00		Υ					
Product Code:		Supplier Product Cod	le:							

Agency Notes: Supplier Notes:

OCAT WRWA 220802-36 ALTERNATE #1 BID: LOOP DETECTOR WIRE(AWG NO. 14)(STRANDED COPPER)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$18.00	200 / linear foot	\$3,600.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$18.75	200 / linear foot	\$3,750.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCAT WRWA 220802-37 ALTERNATE #1 BID: TRAFFIC STRIPE (PLASTIC) (4 INCH WIDE SOLID) (WHITE)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2.25	2200 / linear foot	\$4,950.00		Y			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$3.75	2200 / linear foot	\$8,250.00		Y			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						

OCAT WRWA 220802-38 ALTERNATE #1 BID: TRAFFIC STRIPE (PLASTIC) (4 INCH WIDE SOLID) (YELLOW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.10	8524 / linear foot	\$17,900.40		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$3.75	8524 / linear foot	\$31,965.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OCAT WRWA 220802-39 ALTERNATE #1 BID: TRAFFIC STRIPE (PLASTIC) (ADA WHEEL CHAIR square yardMBOLS)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$1,100.00	2 / each	\$2,200.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$1,600.00	2 / each	\$3,200.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

OCAT WRWA 220802-40 ALTERNATE #1 BID: CONSTRUCTION SIGNING AND TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$1,700.00	1 / lump sum	\$1,700.00	Y	Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13,000.00	1 / lump sum	\$13,000.00	Y	Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
		Bid bond uploaded to last line item, could not upload						
		under bid bond upload link.						

Supplier Totals

f Ellsworth Construction OKC dba Atech Paving	\$4,272,547.04 (81/81 items)
Bid Contact Timothy Lunday	Address P.O. Box 10765

tlunday@ellsworthinc.com Midwest City, OK 73140

Ph 405-418-4741

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Bid Notes

Bid bond uploaded to last line item, could not upload under bid bond upload link.

Agency Notes: Supplier Notes: Head
Attch:

Bid bond uploaded to last line item, could not upload under bid bond upload link.

Edmond, OK 73083

f T.J. Campbell Construction Co. \$4,965,877.15 (81/81 items)

Bid Contact Donnie Dorn

TJCESTIMATING@TJCAMPBELL.COM

Ph 405-672-6768 Fax 405-513-6786

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Bid Bond [a] (Status: This bid bond could not be verified)

Bid Notes Bid Bond attached to last item

Agency Notes: Supplier Notes: Head Attch:

Bid Bond attached to last item

W

Address PO Box 3788

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid OCWUT SC-1098 Ended At Feb 1, 2023 10:00:00 AM CST CONSTRUCTION/OCWUT - Twin Creek Siphon Replacement; Twin Creek at Wiley Post Park

Company:	Cimarron Construction Company, LLC	Krapff Reynolds Construction Company	Downey Contracting, LLC
Base Bid	\$2,997,799.00	\$3,990,923.00	\$4,601,602.50
TOTAL BID:	\$2,997,799.00	\$3,990,923.00	\$4,601,602.50

To all a Meller and	Angee Wagner	Pandall Danial
Tresha Williams		Randall Daniel
City Clerk	Procurement	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT SC-1098 - Twin Creek Siphon Replacement; Twin Creek at Wiley Post Park

Creation Date **Nov 1, 2022** End Date **Feb 1, 2023 10:00:00 AM CST**

Start Date Dec 21, 2022 8:01:39 AM CST Awarded Date Not Yet Awarded

OCWUT SC-109801-01 Base Bid: TRENCH EXCAVATION AND BACKFILL - ZERO (0') TO FIFTEEN FEET (15')									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$1.00	350 / linear foot	\$350.00	Υ	Υ				
Product Code: SC-1098		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$48.00	350 / linear foot	\$16,800.00	Υ	Υ				
Product Code: SC-1098		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, LLC	First Offer - \$261.00	350 / linear foot	\$91,350.00	Υ	Υ				
Product Code: SC-1098		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109801-02 Base Bid: TRENCH EXCAVATION AND BACKFILL - ZERO (0') TO TWENTY FEET (20')									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$2.00	25 / linear foot	\$50.00		Y				
Product Code: SC-1098		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$75.00	25 / linear foot	\$1,875.00		Y				
Product Code: SC-1098		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, LLC	First Offer - \$327.00	25 / linear foot	\$8,175.00		Y				
Product Code: SC-1098		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109801-03 Base Bid: BORING - CASING (CARRIER SIZE, 24 IN)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC		First Offer - \$2,795.00	240 / linear foot	\$670,800.00		Y			
Product Code: SC-1098			Supplier Product Cod	e:					
Agency Notes:			Supplier Notes:						
Krapff Reynolds Construction Company		First Offer - \$2,850.00	240 / linear foot	\$684,000.00		Y			
Product Code: SC-1098			Supplier Product Cod	e:					
Agency Notes:			Supplier Notes:						
Downey Contracting, LLC		First Offer - \$4,482.00	240 / linear foot	\$1,075,680.00		Y			
Product Code: SC-1098			Supplier Product Cod	e:					
Agency Notes:			Supplier Notes:						

OCWUT SC-109801-04 Base Bid: BORING - CASING (CARRIER SIZE, 36 IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$3,425.00	240 / linear foot	\$822,000.00		Y				
Product Code: SC-1098		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3,485.00	240 / linear foot	\$836,400.00		Y				
Product Code: SC-1098		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, LLC	First Offer - \$4,825.00	240 / linear foot	\$1,158,000.00		Y				
Product Code: SC-1098		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109801-05 Base Bid: DEFLECTION TEST (48")										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$1.00	330 / linear foot	\$330.00		Υ					
Product Code: SC-1098		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$8.00	330 / linear foot	\$2,640.00		Υ					
Product Code: SC-1098		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
Downey Contracting, LLC	First Offer - \$23.00	330 / linear foot	\$7,590.00		Υ					
Product Code: SC-1098		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

OCWUT SC-1098–01-06 Base Bid: TELEVISION INSPECTION (CCTV)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$2.50	1000 / linear foot	\$2,500.00		Υ					
Product Code: SC-1098		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$4.00	1000 / linear foot	\$4,000.00		Y					
Product Code: SC-1098		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, LLC	First Offer - \$6.00	1000 / linear foot	\$6,000.00		Y					
Product Code: SC-1098		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT SC-109801-07 Base Bid: SEWER LEAKAGE TEST (24")										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$1.00	343 / linear foot	\$343.00		Υ					
Product Code: SC-1098	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$9.00	343 / linear foot	\$3,087.00		Υ					
Product Code: SC-1098		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
Downey Contracting, LLC	First Offer - \$14.00	343 / linear foot	\$4,802.00		Υ					
Product Code: SC-1098		Supplier Product Code	2 :							
Agency Notes:		Supplier Notes:								

OCWUT SC-109801-08 Base Bid: SEWER LEAKAGE TEST (36")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$2.00	343 / linear foot	\$686.00		Y				
Product Code: SC-1098 Agency Notes:		Supplier Product Code Supplier Notes:	: :						
Cimarron Construction Company, LLC	First Offer - \$10.00	343 / linear foot	\$3,430.00		Y				
Product Code: SC-1098 Agency Notes:		Supplier Product Code Supplier Notes:	: :						
Downey Contracting, LLC	First Offer - \$14.00	343 / linear foot	\$4,802.00		Y				
Product Code: SC-1098 Agency Notes:		Supplier Product Code Supplier Notes:	:						

OCWUT SC-109801-09 Base Bid: SEWER LEAKAGE TEST (48")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$3.00	330 / linear foot	\$990.00		Υ				
Product Code: SC-1098		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							

Cimarron Construction Company, LLC	First Offer - \$11.00	330 / linear foot	\$3,630.00	Y
Product Code: SC-1098		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Downey Contracting, LLC	First Offer - \$15.00	330 / linear foot	\$4,950.00	Υ
Product Code: SC-1098		Supplier Product Code	: :	
Agency Notes:		Supplier Notes:		

OCWUT SC-109801-10 Base Bid: SANITARY SEWER MANHOLE (0-6')										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$12,600.00	1 / each	\$12,600.00		Υ					
Product Code: SC-1098	luct Code: SC-1098 Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$18,300.00	1 / each	\$18,300.00		Υ					
Product Code: SC-1098		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
Downey Contracting, LLC	First Offer - \$23,170.00	1 / each	\$23,170.00		Υ					
Product Code: SC-1098		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109801-11 Base Bid: SANITARY SEWER MANHOLE ADD'L DEPTH										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$825.00	8 / vertical foot	\$6,600.00		Υ					
Product Code: SC-1098	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$2,200.00	8 / vertical foot	\$17,600.00		Υ					
Product Code: SC-1098		Supplier Product Cod	de:							
Agency Notes:		Supplier Notes:								
Downey Contracting, LLC	First Offer - \$2,641.00	8 / vertical foot	\$21,128.00		Υ					
Product Code: SC-1098		Supplier Product Cod	de:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109801-12 Base Bid: SANITARY SEWER MANHOLE REHAB										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$1,600.00	14.5 / vertical foot	\$23,200.00		Y					
Product Code: SC-1098		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$1,850.00	14.5 / vertical foot	\$26,825.00		Υ					
Product Code: SC-1098		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, LLC	First Offer - \$3,361.00	14.5 / vertical foot	\$48,734.50		Υ					
Product Code: SC-1098		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT SC-109801-13 Base Bid: ABANDON MANHOLE (4')										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$500.00	1 / each	\$500.00		Y					
Product Code: SC-1098 Agency Notes:	Supplier Product Co Supplier Notes:									
Downey Contracting, LLC	First Offer - \$2,208.00	1 / each	\$2,208.00		Υ					
Product Code: SC-1098 Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Cimarron Construction Company, LLC	First Offer - \$2,250.00	1 / each	\$2,250.00		Υ					
Product Code: SC-1098 Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

OCWUT SC-109801-14 Base Bid: SANITARY SEWER PIPE (24") (PVC)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, LLC	First Offer - \$231.00	343 / linear foot	\$79,233.00		Υ					
Product Code: SC-1098		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$315.00	343 / linear foot	\$108,045.00		Y					
Product Code: SC-1098		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$657.00	343 / linear foot	\$225,351.00		Y					
Product Code: SC-1098		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109801-15 Base Bid: SANITARY SEWER PIPE (36") (PVC)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, LLC	First Offer - \$454.00	343 / linear foot	\$155,722.00		Υ					
Product Code: SC-1098	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$530.00	343 / linear foot	\$181,790.00		Y					
Product Code: SC-1098		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$801.00	343 / linear foot	\$274,743.00		Υ					
Product Code: SC-1098		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109801-16 Base Bid: SANITARY SEWER PIPE (48") (PVC)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, LLC	First Offer - \$744.00	330 / linear foot	\$245,520.00		Υ			
Product Code: SC-1098		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$880.00	330 / linear foot	\$290,400.00		Υ			
Product Code: SC-1098		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$994.00	330 / linear foot	\$328,020.00		Υ			
Product Code: SC-1098		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109801-17 Base Bid: 24" X 22.5 DEG. BEI	ND				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Krapff Reynolds Construction Company	First Offer - \$4,700.00	2 / each	\$9,400.00		Υ
Product Code: SC-1098		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, LLC	First Offer - \$5,145.00	2 / each	\$10,290.00		Υ
Product Code: SC-1098		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$6,250.00	2 / each	\$12,500.00		Υ
Product Code: SC-1098		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109801-18 Base Bid: 36" X 22.5 DEG. BEND								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$6,600.00	2 / each	\$13,200.00		Υ			
Product Code: SC-1098		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

Downey Contracting, LLC	First Offer - \$9,168.00	2 / each	\$18,336.00	Y
Product Code: SC-1098		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$9,250.00	2 / each	\$18,500.00	Y
Product Code: SC-1098		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT SC-109801-19 Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$5,400.00	1 / lump sum	\$5,400.00		Υ			
Product Code: SC-1098		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Υ			
Product Code: SC-1098		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Downey Contracting, LLC	First Offer - \$9,375.00	1 / lump sum	\$9,375.00		Υ			
Product Code: SC-1098		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109801-20 Base Bid: MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$125,165.00	1 / lump sum	\$125,165.00		Υ
Product Code: SC-1098		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$200,000.00	1 / lump sum	\$200,000.00		Y
Product Code: SC-1098		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, LLC	First Offer - \$229,638.00	1 / lump sum	\$229,638.00		Υ
Product Code: SC-1098		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109801-21 Base Bid: CLEARING AND G	RUBBING					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer	- \$15,250.00	1 / lump sum	\$15,250.00		Y
Product Code: SC-1098			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Downey Contracting, LLC	First Offer	- \$58,628.00	1 / lump sum	\$58,628.00		Y
Product Code: SC-1098			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Krapff Reynolds Construction Company	First Offer -	\$200,000.00	1 / lump sum	\$200,000.00		Y
Product Code: SC-1098			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

OCWUT SC-109801-22 Base Bid: REMOVE AND REPLACE SIDEWALK (10')								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$100.00	20 / square yard	\$2,000.00		Υ			
Product Code: SC-1098		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Downey Contracting, LLC	First Offer - \$149.00	20 / square yard	\$2,980.00		Υ			
Product Code: SC-1098		Supplier Product Code	::					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$150.00	20 / square yard	\$3,000.00		Y			
Product Code: SC-1098		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109801-23 Base Bid: SOLID SLAB SODDING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$3.50	2400 / square yard	\$8,400.00		Υ				
Product Code: SC-1098		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$4.00	2400 / square yard	\$9,600.00		Υ				
Product Code: SC-1098		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, LLC	First Offer - \$4.00	2400 / square yard	\$9,600.00		Υ				
Product Code: SC-1098		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT SC-109801-24 Base Bid: EROSION CONTRO	DL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$5,250.00	1 / lump sum	\$5,250.00		Υ
Product Code: SC-1098		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code: SC-1098		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, LLC	First Offer - \$19,407.00	1 / lump sum	\$19,407.00		Y
Product Code: SC-1098		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109801-25 Base Bid: DEMOLISH EXISTING SIPHON STRUCTURES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$6,300.00	1 / lump sum	\$6,300.00		Υ			
Product Code: SC-1098		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Downey Contracting, LLC	First Offer - \$49,809.00	1 / lump sum	\$49,809.00		Υ			
Product Code: SC-1098		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$60,000.00	1 / lump sum	\$60,000.00		Υ			
Product Code: SC-1098		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109801-26 Base Bid: 24"X24" HEAVY DI	UTY SLUICE GATE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Krapff Reynolds Construction Company	First Offer - \$15,300.00	2 / each	\$30,600.00		Y
Product Code: SC-1098		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$16,500.00	2 / each	\$33,000.00		Y
Product Code: SC-1098		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, LLC	First Offer - \$20,599.00	2 / each	\$41,198.00		Y
Product Code: SC-1098		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109801-27 Base Bid: 36"X36" HEAVY DUTY SLUICE GATE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Krapff Reynolds Construction Company	First Offer - \$24,300.00	2 / each	\$48,600.00		Υ		
Product Code: SC-1098 Supplier Product Code:							
Agency Notes:		Supplier Notes:					

Cimarron Construction Company, LLC	First Offer - \$25,250.00	2 / each		\$50,500.00	Υ
Product Code: SC-1098		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, LLC	First Offer - \$30,743.00	2 / each		\$61,486.00	Υ
Product Code: SC-1098		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109801-28 Base Bid: SIPHON INFLUENT AND EFFLUENT STRUCTURE									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer	- \$283,500.00	1 / lump sum	\$283,500.00		Υ			
Product Code: SC-1098 Supplier Product Code:									
Agency Notes:			Supplier Notes:						
Downey Contracting, LLC	First Offer	- \$429,493.00	1 / lump sum	\$429,493.00		Υ			
Product Code: SC-1098			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Krapff Reynolds Construction Company	First Offer	- \$525,000.00	1 / lump sum	\$525,000.00		Υ			
Product Code: SC-1098			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						

OCWUT SC-109801-29 Base Bid: MISCELLANEOUS WORK ITEMS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$56,027.00	1 / lump sum	\$56,027.00		Υ				
Product Code: SC-1098 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$80,000.00	1 / lump sum	\$80,000.00		Υ				
Product Code: SC-1098		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, LLC	First Offer - \$279,359.00	1 / lump sum	\$279,359.00		Υ				
Product Code: SC-1098		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109801-30 Base Bid: ABANDON AND REMOVE EXISTING SANITARY SEWER PIPES AND STRUCTURES								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offe	r - \$85,500.00	1 / lump sum	\$85,500.00		Y		
Product Code: SC-1098		Supplier Product C	ode:					
Agency Notes:			Supplier Notes:					
Downey Contracting, LLC	First Offe	r - \$91,189.00	1 / lump sum	\$91,189.00		Y		
Product Code: SC-1098			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Krapff Reynolds Construction Company	First Offer	- \$155,000.00	1 / lump sum	\$155,000.00		Y		
Product Code: SC-1098			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					

OCWUT SC-109801-31 Base Bid: TRENCH EXCAVATION AND BACKFILL - ZERO (0') TO TWENTY-FIVE FEET (25')								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$3.00	25 / linear foot	\$75.00		Y			
Product Code: SC-1098		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$100.00	25 / linear foot	\$2,500.00		Y			
Product Code: SC-1098		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, LLC	First Offer - \$582.00	25 / linear foot	\$14,550.00		Y			
Product Code: SC-1098		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT SC-109801-32 Base Bid: TRENCH EXCAVATION AND BACKFILL - ZERO (0') TO THIRTY FEET (30')									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$4.00	40 / linear foot	\$160.00		Υ				
Product Code: SC-1098		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$125.00	40 / linear foot	\$5,000.00		Y				
Product Code: SC-1098		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, LLC	First Offer - \$694.00	40 / linear foot	\$27,760.00		Υ				
Product Code: SC-1098		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109801-33 Base Bid: TEMPORARY BYPASS PUMPING (STANDBY)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$402.00	80 / day	\$32,160.00		Y				
Product Code: SC-1098		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Downey Contracting, LLC	First Offer - \$1,896.00	80 / day	\$151,680.00		Y				
Product Code: SC-1098		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$2,030.00	80 / day	\$162,400.00		Y				
Product Code: SC-1098		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109801-34 Base Bid: TEMPORARY BYPASS PUMPING (ACTIVE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$1,885.00	40 / day	\$75,400.00		Υ				
Product Code: SC-1098	Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$2,030.00	40 / day	\$81,200.00		Y				
Product Code: SC-1098		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, LLC	First Offer - \$3,994.00	40 / day	\$159,760.00		Y				
Product Code: SC-1098		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

Supplier Totals

f Cimarron Co	onstruction Company, LLC	\$2,997,799.00 (34/34 items)	
Bid Contact	Don E Noble JHuckabay@cimarronconstructionco.com Ph 405-728-1555 Fax 405-728-5026	Address 3501 NE. 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Bid Notes	Bid Bond Attached to 1st Item		
Agency Notes		Supplier Notes:Head ABid Bond Attached to 1st ItemI	Attch:
f Krapff Reyn	olds Construction Company	\$3,990,923.00 (34/34 items)	
Bid Contact	Jim King fred@krapff-reynolds.com	Address 2400 N.E. 4th st Oklahoma City, OK 73117	

Ph 405-733-9682 Fax 405-516-0081 Qualifications OKC PRE-QUALIFIED CONTRACTORS Bid Bond (Status: This bid bond could not be verified) **Head Attch: Agency Notes: Supplier Notes:** f Downey Contracting, LLC \$4,601,602.50 (34/34 items) **Bid Contact Brandon Downey** Address 3217 NE 63rd ST gwyssmann@downeycontracting.com Oklahoma City, OK 73121 Ph 405-478-5277 Qualifications **OKC PRE-QUALIFIED CONTRACTORS Supplier Notes: Head Attch: Agency Notes:**

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #23612 - CUSTODIAL SERVICES FOR VARIOUS CITY BUILDINGS MANAGED BY GENERAL SERVICES

Start Date Jan 19, 2023 8:03:35 AM CST Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SourceOne_	First Offer - \$1,535.00	1 / month	\$1,535.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Spic & Span Commercial Cleaning LLC	First Offer - \$1,665.00	1 / month	\$1,665.00		Ú
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
Fenway Enterprises	First Offer - \$2,630.00	1 / month	\$2,630.00		Ú
Product Code: Agency Notes:		Supplier Product Code: 23612–01-01 Supplier Notes:			
A&T Property Management, LLC	First Offer - \$3,287.50	1 / month	\$3,287.50		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Goodwill Industries of Central Oklahoma	First Offer - \$6,107.43	1 / month	\$6,107.43		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Tota	ode: al Price = monthly price	of service	

2361201-02 City Hall-200 North Walker (65,750 sq. ft.)	-Option A: Clean office a	reas, break rooms a	nd entrance areas-5 t	imes per w	veek
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$1,535.00	1 / month	\$1,535.00		Ú)
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Spic & Span Commercial Cleaning LLC	First Offer - \$1,665.00	1 / month	\$1,665.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$2,617.47	1 / month	\$2,617.47		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = monthly price of service			
Fenway Enterprises	First Offer - \$4,602.00	1 / month	\$4,602.00		Ú
Product Code: Agency Notes:		Supplier Product Code: 23612–01-02 Supplier Notes:			
A&T Property Management, LLC	First Offer - \$5,980.00	1 / month	\$5,980.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

2361201-03 City Hall-200 North Walker (65,750 sq. ft.)-Option A: Daily Restroom Services-5 times per week								
Supplier Unit Price Qty/Unit Total Price Attch. Doc								
Fenway Enterprises	First Offer - \$1,315.00	1 / month	\$1,315.00		J			
Product Code:	Product Code: Supplier Product Code: 23612–01-03							
Agency Notes:		Supplier Notes:						

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
A&T Property Management, LLC	First Offer - \$5,060.00	1 / month	\$5,060.00	J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = monthly price of service			
Goodwill Industries of Central Oklahoma	First Offer - \$2,617.47	1 / month	\$2,617.47	J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
pic & Span Commercial Cleaning LLC	First Offer - \$1,665.00	1 / month	\$1,665.00	U	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
<u>SourceOne</u>	First Offer - \$1,535.00	1 / month	\$1,535.00	<u> </u>	

2361202-01 City Hall-200 North Walker (65,750	sq. ft.)-Option B: Clean floors 3	times per week			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SourceOne_	First Offer - \$1,350.00	1 / month	\$1,350.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Spic & Span Commercial Cleaning LLC	First Offer - \$1,534.00	1 / month	\$1,534.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$1,678.00	1 / month	\$1,678.00		Ú
Product Code: Agency Notes:		Supplier Product Code: 23612–02-01 Supplier Notes:			
A&T Property Management, LLC	First Offer - \$2,095.00	1 / month	\$2,095.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$3,271.84	1 / month	\$3,271.84		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = monthly price of service			

2361202-02 City Hall-200 North Walker (65,750 sq. ft	.)-Option B: Clean office a	reas, break rooms ar	nd entrance areas-5 t	imes per v	veek	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
<u>SourceOne</u>	First Offer - \$1,535.00	1 / month	\$1,535.00		Ŋ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Spic & Span Commercial Cleaning LLC	First Offer - \$1,665.00	1 / month	\$1,665.00		Ú	
Product Code: Agency Notes:	'	Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$2,617.47	1 / month	\$2,617.47		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = monthly price of service				
A&T Property Management, LLC	First Offer - \$3,287.50	1 / month	\$3,287.50		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$3,802.00	1 / month	\$3,802.00		Ð	
		Supplier Product Co Supplier Notes:	de: 23612–02-02			

2361202-03 City Hall-200 North Walker (65,750 sq	լ. ft.)	-Option B: Daily Restroo	m Services-5 times	per week			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
<u>SourceOne</u>		First Offer - \$1,535.00	1 / month	\$1,535.00		J	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Fenway Enterprises		First Offer - \$1,650.00	1 / month	\$1,650.00		Ú	
Product Code: Agency Notes:			Supplier Product Code: 23612–02-03 Supplier Notes:				
Spic & Span Commercial Cleaning LLC		First Offer - \$1,665.00	1 / month	\$1,665.00		J	
Product Code: Agency Notes:	•		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma		First Offer - \$2,617.47	1 / month	\$2,617.47		Ú	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Total Price = Monthly price for service				
A&T Property Management, LLC		First Offer - \$5,060.00	1 / month	\$5,060.00		Ú	
		Supplier Product Code: Supplier Notes:					

2361203-01 City Hall-200 North Walker (65,750 sq. ft.	ditioning when reques	ted			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.05	1 / square foot	\$0.05		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Total Price = Price per square foot				
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 1000 sqft minimum			
Fenway Enterprises	First Offer - \$4,500.00	1 / square foot	\$4,500.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SourceOne SourceOne	First Offer - \$6,890.00	1 / square foot	\$6,890.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

2361203-02 City Hall-200 North Walker (65,750 sq. ft.	.)-Alternate: Carpet Clean	ing when requested			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.06	1 / square foot	\$0.06		J
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: 1000			
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú
Product Code: Agency Notes:	,	Supplier Product Cod Supplier Notes: Total Price = Price per s		'	
Fenway Enterprises	First Offer - \$2,640.00	1 / square foot	\$2,640.00		Ú

Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
<u>SourceOne</u>	First Offer - \$3,950.00	1 / square foot	\$3,950.00	Ð
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

2361203-03 City Hall-200 North Walker (65,750 so	ղ. ft.)	-Alternate: Window clea	ning when reques	ted-Inside Windows			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC		First Offer - \$5.00	1/job	\$5.00		Ð	
Agency Notes:			Supplier Product Supplier Notes: \$5 per window	Code:			
Fenway Enterprises		First Offer - \$100.00	1/job	\$100.00		Ú)	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma		First Offer - \$1,120.00	1/job	\$1,120.00		Ú	
Product Code: Agency Notes:	'		Supplier Product Supplier Notes: Total Price = Price	Code: per floor per cleaning			
A&T Property Management, LLC		First Offer - \$1,500.00	1/job	\$1,500.00		Ð	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SourceOne_		First Offer - \$1,595.00	1/job	\$1,595.00		Ð	
Product Code: Agency Notes:	'		Supplier Product Supplier Notes:	Code:			

2361203-04 City Hall-200 North Walker (65,750 so	դ. ft.)	-Alternate: Window clea	ning when request	ed-Outside Windows, (Ground Flo	or	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC		First Offer - \$7.00	1/job	\$7.00		Ú	
Agency Notes:			Supplier Product Code: Supplier Notes: \$7 per window				
Fenway Enterprises		First Offer - \$150.00	1/job	\$150.00		Ú	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SourceOne_		First Offer - \$695.00	1/job	\$695.00		Ú	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma		First Offer - \$1,120.00	1/job	\$1,120.00		Ŋ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes: Total Price = Price p	code: er floor per cleaning			
A&T Property Management, LLC		First Offer - \$2,500.00	1/job	\$2,500.00		Ŋ	
Product Code: Agency Notes:		1	Supplier Product C Supplier Notes:	Code:			

2361203-05 City Hall-200 North Walker (65,750 sq. ft.)-Alternate: Window cleaning when requested-Outside Windows, Above Ground Floor									
Supplier	Unit Price Qty/Unit Total Price Attch. Doc								
Spic & Span Commercial Cleaning LLC	First Offer - \$0.00	1/job	\$0.00		Ú				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
		market value upon request. High rise windows above 3 stories							
		typically \$150 per window							

Goodwill Industries of Central Oklahoma	First Offer - \$0.00	1 / job	\$0.00	0	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NA. Not available for this service				
Fenway Enterprises	First Offer - \$225.00	1/job	\$225.00	- U	
Product Code: Agency Notes:		Supplier Product Code: 23612–03-05 Supplier Notes:			
A&T Property Management, LLC	First Offer - \$1,500.00	1/job	\$1,500.00	l (iii	
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes:			
SourceOne_	First Offer - \$4,250.00	1/job	\$4,250.00	l (i	
		Supplier Product Code: Supplier Notes:			

2361203-06 City Hall-200 North Walker (65,750 sq. ft.	.)-Alternate: Custodial Wo	rker on-site Monday	through Friday, 8 ho	urs a day	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fenway Enterprises	First Offer - \$15.00	1 / hour	\$15.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de: 23612–03-06		
A&T Property Management, LLC	First Offer - \$15.00	1 / hour	\$15.00		Ú
		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$22.00	1 / hour	\$22.00		Ú
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: \$22 per hour	de:		
Goodwill Industries of Central Oklahoma	First Offer - \$23.60	1 / hour	\$23.60		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>	First Offer - \$2,695.00	1 / hour	\$2,695.00		Ú
Product Code: Agency Notes:	'	Supplier Product Co Supplier Notes:	de:	'	

2361204-01 Municipal Building-100 N. Walker-(43,7	50 sq. ft.)-Option A: Clean i	loors 5 times per we	ek		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$1,020.00	1 / month	\$1,020.00		J
		Supplier Product Co Supplier Notes:	ode:		
Spic & Span Commercial Cleaning LLC	First Offer - \$1,108.00	1 / month	\$1,108.00		J
		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$2,625.00	1 / month	\$2,625.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$5,590.00	1 / month	\$5,590.00		Ú
Product Code: Agency Notes:		Supplier Product Code: 23612–04-01 Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$6,107.43	1 / month	\$6,107.43		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

2361204-02 Municipal Building-100 N. Walker-(43,750 week) sq. ft.)-Option A: Clean c	office areas, break ro	oms and entrance ar	eas-5 time	es per
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SourceOne_	First Offer - \$1,020.00	1 / month	\$1,020.00		Ð
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Spic & Span Commercial Cleaning LLC	First Offer - \$1,108.00	1 / month	\$1,108.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Goodwill Industries of Central Oklahoma	First Offer - \$2,044.90	1 / month	\$2,044.90		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Monthly price for service			
Fenway Enterprises	First Offer - \$2,700.00	1 / month	\$2,700.00		Ú
Product Code: Agency Notes:		Supplier Product Code: 23612–03-02 Supplier Notes:			
A&T Property Management, LLC	First Offer - \$3,094.00	1 / month	\$3,094.00		Ð
Product Code: Agency Notes:	1	Supplier Product Co Supplier Notes:	de:		

2361204-03 Municipal Building-100 N. Walker-(43,750	sq. ft.)-Option A: Daily R	estroom Services-5 ti	mes per week		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$1,020.00	1 / month	\$1,020.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Spic & Span Commercial Cleaning LLC	First Offer - \$1,108.00	1 / month	\$1,108.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Fenway Enterprises	First Offer - \$1,650.00	1 / month	\$1,650.00		J
Product Code: Agency Notes:		Supplier Product Code: 23612–04-03 Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$2,044.90	1 / month	\$2,044.90		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Monthly price for service			
A&T Property Management, LLC	First Offer - \$5,075.00	1 / month	\$5,075.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

2361205-01 Municipal Building-100 N. Walker-(43,75	0 sq. ft.)-Option B: Clean fl	loors 3 times per we	ek		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$895.00	1 / month	\$895.00		Ð
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Spic & Span Commercial Cleaning LLC	First Offer - \$1,021.00	1 / month	\$1,021.00		Ú
		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$1,875.00	1 / month	\$1,875.00		Ú

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Goodwill Industries of Central Oklahoma	First Offer - \$3,271.84	1 / month	\$3,271.84	Ú
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month for service		
Fenway Enterprises	First Offer - \$4,100.00	1 / month	\$4,100.00	- U
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

2361205-02 Municipal Building-100 N. Walker-(43,750 week	sq. ft.)-Option B: Clean o	ffice areas, break ro	oms and entrance ar	eas-5 time	es per
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$1,020.00	1 / month	\$1,020.00		Ð.
		Supplier Product Co Supplier Notes:	de:		
Spic & Span Commercial Cleaning LLC	First Offer - \$1,108.00	1 / month	\$1,108.00		J
		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$2,044.90	1 / month	\$2,044.90		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month for service			
Fenway Enterprises	First Offer - \$2,500.00	1 / month	\$2,500.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$3,094.00	1 / month	\$3,094.00		Ð
Product Code: Agency Notes:	,	Supplier Product Co Supplier Notes:	de:		

2361205-03 Municipal Building-100 N. Walker-(43,750	sq. ft.)-Option B: Daily R	estroom Services-5 t	imes per week		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$1,020.00	1 / month	\$1,020.00		Ú
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$1,108.00	1 / month	\$1,108.00		Ú)
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Fenway Enterprises	First Offer - \$1,650.00	1 / month	\$1,650.00		Ð
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$2,044.90	1 / month	\$2,044.90		Ú)
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
		Total Price = Price per month for service			
A&T Property Management, LLC	First Offer - \$5,075.00	1 / month	\$5,075.00		Ú)
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

2361206-01 Municipal Building-100 N. Walker-(43,750 sq. ft.)-Alternate: Floor Reconditioning when requested						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$0.08	1 / square foot	\$0.08		Ú	
Product Code:		Supplier Product Cod	le:	•		

Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29	- U	
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per square foot cleaned			
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35	- U	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 1000 sqft minimum	e:		
Fenway Enterprises	First Offer - \$200.00	1 / square foot	\$200.00	l l	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SourceOne SourceOne	First Offer - \$4,950.00	1 / square foot	\$4,950.00	- U	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.08	1 / square foot	\$0.08		Ū
Product Code:		Supplier Product Code):		
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 1000 sqft minimym	:		
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per square foot cleaned			
Fenway Enterprises	First Offer - \$300.00	1 / square foot	\$300.00		<u> </u>
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SourceOne_	First Offer - \$3,350.00	1 / square foot	\$3,350.00		Ú)
Product Code: Agency Notes:	1 1	Supplier Product Code Supplier Notes:	:		

2361206-03 Municipal Building-100 N. Walker-(43,750) sq. ft.)-Alternate: Windo	w cleaning when re	quested-Inside Windo	ws		
Supplier	Unit Price Qty	e Qty/Unit Total Price Attch.				
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ú	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes: \$5 per window				
Fenway Enterprises	First Offer - \$150.00	1/job	\$150.00		Ú	
		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$1,120.00	1/job	\$1,120.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per floor serviced				
A&T Property Management, LLC	First Offer - \$1,500.00	1/job	\$1,500.00		Ú	
Product Code:		Supplier Product Co	ode:			

Agency Notes:		Supplier Notes:		
<u>SourceOne</u>	First Offer - \$1,500.00	1/job	\$1,500.00	Ð
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

2361206-04 Municipal Building-100 N. Walker-(43	3,750	sq. ft.)-Alternate: Windo	w cleaning when r	equested-Outside Wind	dows, Gro	und Flooi
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC		First Offer - \$7.00	1/job	\$7.00		Ú
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window				
Fenway Enterprises		First Offer - \$200.00	1/job	\$200.00		J
		Supplier Product Code: Supplier Notes:				
SourceOne_		First Offer - \$495.00	1/job	\$495.00		Ú
		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma		First Offer - \$1,120.00	1/job	\$1,120.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per floor serviced				
A&T Property Management, LLC		First Offer - \$1,500.00	1/job	\$1,500.00		Ú
		Supplier Product (Supplier Notes:	Code:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$0.00	1/job	\$0.00		Ð
Agency Notes:		Supplier Product Code: Supplier Notes: market value upon request. High rise windows above 3 stories typically \$150 per window			
Goodwill Industries of Central Oklahoma	First Offer - \$0.00	1/job	\$0.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: NA. Not available for this service.				
Fenway Enterprises	First Offer - \$300.00	1/job	\$300.00		Ŋ
		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$1,500.00	1/job	\$1,500.00		Ú
		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>	First Offer - \$2,395.00	1/job	\$2,395.00		Ú
Product Code: Agency Notes:	, ,	Supplier Product C Supplier Notes:	ode:		

2361206-06 Municipal Building-100 N. Walker-(43,750 sq. ft.)-Alternate: Custodial Worker on-site Monday through Friday, 8 hours a day							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Fenway Enterprises	First Offer - \$15.00	1 / hour	\$15.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:	Supplier Notes:						
A&T Property Management, LLC	First Offer - \$15.00	1 / hour	\$15.00		Ú		

			Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC		First Offer - \$22.00	1 / hour	\$22.00	U	
Agency Notes:			Supplier Product Code: Supplier Notes: \$22 per hour			
Goodwill Industries of Central Oklahoma		First Offer - \$23.60	1 / hour	\$23.60	Ú	
			Supplier Product Code: Supplier Notes:			
SourceOne		First Offer - \$2,695.00	1 / hour	\$2,695.00	l l	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.00	1 / month	\$0.00		Ú
Agency Notes:		Supplier Product Code: Supplier Notes: NO BID			
<u>SourceOne</u>	First Offer - \$3,655.00	1 / month	\$3,655.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$4,084.00	1 / month	\$4,084.00		J
		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$7,000.00	1 / month	\$7,000.00		Ú
		Supplier Product Code: 23612–07-01 Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$12,214.87	1 / month	\$12,214.87		Ú)
Product Code: Agency Notes:	ı	Supplier Product Co Supplier Notes: Tota		nth for this	service

2361207-02 James D. Couch Municipal Office I areas-5 times per week	January 420 W. Main (101,130 St	1. re., opeion / i. cican	omee areas, breaki		Circian
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.00	1 / month	\$0.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: NO BID	ode:		
<u>SourceOne</u>	First Offer - \$3,655.00	1 / month	\$3,655.00		U
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$4,084.00	1 / month	\$4,084.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$5,234.94	1 / month	\$5,234.94		Ú
		Supplier Product Code: Supplier Notes: Total Price = Price per month for service			

Fenway Enterprises	Fir	st Offer - \$13,000.00	1 / month	\$13,000.00	Ø
Product Code:			Supplier Product Co	ode: 23612–07-02	
Agency Notes:			Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$0.00	1 / month	\$0.00		Ú	
Product Code:		Supplier Product Code:				
		Supplier Notes: NO BID				
Fenway Enterprises	First Offer - \$3,000.00	1 / month	\$3,000.00		J	
Product Code: Agency Notes:		Supplier Product Code: 23612–07-03 Supplier Notes:				
SourceOne_	First Offer - \$3,655.00	1 / month	\$3,655.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$4,084.00	1 / month	\$4,084.00		Ð	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$5,324.94	1 / month	\$5,324.94		Ŋ	
		Supplier Product Code: Supplier Notes: Total Price = Price per month for service			ce	

2361208-01 James D. Couch Municipal Office Buildin	g -420 W. Main-(161,196 s	q. ft.)-Option B: Clear	n floors 3 times per w	eek	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.00	1 / month	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: NO BID	ode:		
<u>SourceOne</u>	First Offer - \$3,116.00	1 / month	\$3,116.00		<u> </u>
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$3,761.00	1 / month	\$3,761.00		Ð
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Fenway Enterprises	First Offer - \$4,455.00	1 / month	\$4,455.00		Ð
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode: 23612–08-01		
Goodwill Industries of Central Oklahoma	First Offer - \$7,634.29	1 / month	\$7,634.29		Ð
Product Code: Agency Notes:	•	Supplier Product Co Supplier Notes: Total Price = Price pe			

2361208-02 James D. Couch Municipal Office Build areas-5 times per week	ing -420 W. Main-(161,196 sq.	ft.)-Option B: Clean	office areas, break r	ooms and	entrance
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.00	1 / month	\$0.00		J

Product Code: Agency Notes:		Supplier Product Co Supplier Notes: NO BID	ode:	
<u>SourceOne</u>	First Offer - \$3,655.00	1 / month	\$3,655.00	Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	'
Spic & Span Commercial Cleaning LLC	First Offer - \$4,084.00	1 / month	\$4,084.00	- U
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Goodwill Industries of Central Oklahoma	First Offer - \$5,324.94	1 / month	\$5,324.94	U
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Total Price = Price pe		,
Fenway Enterprises	First Offer - \$12,000.00	1 / month	\$12,000.00	Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode: 23612–08-02	·

2361208-03 James D. Couch Municipal Office Buildin	g -420 W. Main-(161,196 s	q. ft.)-Option B: Daily	Restroom Services-5	times per	week
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.00	1 / month	\$0.00		J
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: NO BID	de:		
Fenway Enterprises	First Offer - \$2,375.00	1 / month	\$2,375.00		Ð
Product Code: Agency Notes:	1	Supplier Product Code: 23612–08-03 Supplier Notes:			
SourceOne SourceOne	First Offer - \$3,655.00	1 / month	\$3,655.00		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:		
Spic & Span Commercial Cleaning LLC	First Offer - \$4,084.00	1 / month	\$4,084.00		Ú
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$5,324.94	1 / month	\$5,324.94		Ú
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: Total Price = Price per			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.00	1 / square foot	\$0.00		Ú
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
		NO BID			
		טום טוע			
		INO BID			
		INO BID			
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		U
	First Offer - \$0.29		, , , , ,		Û
Product Code:	First Offer - \$0.29	1 / square foot	, , , , ,		Ú
Goodwill Industries of Central Oklahoma Product Code: Agency Notes:	First Offer - \$0.29	1 / square foot Supplier Product Code	e:		Ú

Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 1000 s		
Fenway Enterprises	First Offer - \$7,000.00	1 / square foot	\$7,000.00	Ū
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
<u>SourceOne</u>	First Offer - \$19,230.00	1 / square foot	\$19,230.00	- U
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	

2361209-02 James D. Couch Municipal Office Buildir	ng-420 W. Main-(161,196 sc	լ. ft.)-Alternate: Carpet	Cleaning when req	uested	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.00	1 / square foot	\$0.00		Ð
Agency Notes:		Supplier Product Code: Supplier Notes: NO BID			
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		- O
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 1000 sqft minimum	: :		
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ŋ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Total Price = Price per so			
Fenway Enterprises	First Offer - \$6,500.00	1 / square foot	\$6,500.00		Ŋ
Product Code: Agency Notes:	1	Supplier Product Code Supplier Notes:	: :		
<u>SourceOne</u>	First Offer - \$10,950.00	1 / square foot	\$10,950.00		Ð
Product Code: Agency Notes:	,	Supplier Product Code Supplier Notes:	2:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC		First Offer - \$0.00	1/job	\$0.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: NO BID	ode:		
Spic & Span Commercial Cleaning LLC		First Offer - \$5.00	1/job	\$5.00		J
Product Code: Agency Notes:	·		Supplier Product Co Supplier Notes: \$5 per window	ode:		
Fenway Enterprises		First Offer - \$150.00	1/job	\$150.00		J
Product Code: Agency Notes:	'		Supplier Product Co Supplier Notes:	ode:		
Goodwill Industries of Central Oklahoma		First Offer - \$1,120.00	1/job	\$1,120.00		Ð
Product Code: Agency Notes:	,		Supplier Product Co Supplier Notes: Total Price = Price pe			
SourceOne		First Offer - \$5,950.00	1/job	\$5,950.00		(ii)

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.00	1/job	\$0.00		Ú
		Supplier Product Code: Supplier Notes: NO BID			
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1 / job	\$7.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: \$7 per window	ode:		
Fenway Enterprises	First Offer - \$200.00	1/job	\$200.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$1,120.00	1/job	\$1,120.00		J
Product Code: Sagency Notes: Sagency		Supplier Product Co Supplier Notes: Total Price = Price pe			
<u>SourceOne</u>	First Offer - \$1,295.00	1/job	\$1,295.00		Ú
Product Code: Agency Notes:	1 1	Supplier Product Co Supplier Notes:	ode:		

2361209-05 James D. Couch Municipal Office Buildin Windows. Above Ground Floor	g-420 W. Main-(161,196 sq	լ. ft.)-Alternate: Win	dow cleaning when re	quested-C	outside	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$0.00	1/job	\$0.00		Ð	
Agency Notes:		Supplier Product Code: Supplier Notes: market price. high rise windows above 3 stories typically \$150 per window				
Goodwill Industries of Central Oklahoma	First Offer - \$0.00	1/job	\$0.00		Ð	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NA. Not available for this service.				
A&T Property Management, LLC	First Offer - \$0.00	1/job	\$0.00		Ŋ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: NO BID	ode:			
Fenway Enterprises	First Offer - \$300.00	1/job	\$300.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
<u>SourceOne</u>	First Offer - \$7,795.00	1/job	\$7,795.00		Ð	
Product Code: Agency Notes:	1	Supplier Product Co Supplier Notes:	ode:			

2361209-06 James D. Couch Municipal Office Building-420 W. Main-(161,196 sq. ft.)-Alternate: Custodial Worker on-site Monday through Friday, 8 hours a day								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
A&T Property Management, LLC	First Offer - \$0.00	1 / hour	\$0.00		Ú			
	•							

Product Code: Agency Notes:		Supplier Product Co Supplier Notes: NO BID	de:		
Fenway Enterprises	First Offer - \$15.00	1 / hour	\$15.00	- O	
		Supplier Product Code: 23612-09-06 Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$22.00	1 / hour	\$22.00	l l	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$22 per hour			
Goodwill Industries of Central Oklahoma	First Offer - \$23.60	1 / hour	\$23.60	U	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
SourceOne_	First Offer - \$2,695.00	1 / hour	\$2,695.00	l N	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

2361210-01 Central Maintenance Facility-Radio Repa	ir -(3,125 sq. ft.)-Option <i>i</i>	A: Clean floors 5 time	es per week		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$79.00	1 / month	\$79.00		Ú
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:			
SourceOne_	First Offer - \$99.00	1 / month	\$99.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Fenway Enterprises	First Offer - \$180.00	1 / month	\$180.00		J
Product Code: Agency Notes:		Supplier Product Code: 23612-10-01 Supplier Notes:			
A&T Property Management, LLC	First Offer - \$325.00	1 / month	\$325.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$477.17	1 / month	\$477.17		J
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = price per month for service			

2361210-02 Central Maintenance Facility-Rac	lio Repair -(3,125 sq. ft.)-Option ا	A: Clean office areas	, break rooms and ent	trance are	as-5	
times per week						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$79.00	1 / month	\$79.00		Ú	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$99.00	1 / month	\$99.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$175.00	1 / month	\$175.00		Ø	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$200.00	1 / month	\$200.00		Ú	

Product Code:		Supplier Product Code: 23612–10-02			
Agency Notes:			Supplier Notes:		
Goodwill Industries of Central Oklahoma		First Offer - \$409.01	1 / month	\$409.01	Ú
Product Code:			Supplier Product Code	: :	
Agency Notes:			Supplier Notes:		
			Total Price = price per n	nonth for service	

2361210-03 Central Maintenance Facility-Rad	lio Repair -(3,125 sq. ft.)-Option	A: Daily Restroom Se	rvices-5 times per we	ek	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fenway Enterprises	First Offer - \$70.00	1 / month	\$70.00		Ú
Product Code:		Supplier Product Co	ode: 23612–10-03		
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$79.00	1 / month	\$79.00		Ú
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
<u>SourceOne</u>	First Offer - \$99.00	1 / month	\$99.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
A&T Property Management, LLC	First Offer - \$200.00	1 / month	\$200.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$409.01	1 / month	\$409.01		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
		Total Price = price pe	r month for service		

2361211-01 Central Maintenance Facility-Radio Repa	air -(3,125 sq. ft.)-Option	B: Clean floors 3 time	es per week			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$73.00	1 / month	\$73.00		J	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$82.00	1 / month	\$82.00		J	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$170.00	1 / month	\$170.00		J	
Product Code:		Supplier Product Code: 23612–11-01				
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$210.00	1 / month	\$210.00		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$286.31	1 / month	\$286.31		J	
Product Code:	-	Supplier Product Co	de:	'		
Agency Notes:		Supplier Notes:				
		Total Price = price per	r month for service			

2361211-02 Central Maintenance Facility-Rad times per week	io Repa	ir -(3,125 sq. ft.)-Option l	B: Clean office areas	, break rooms and en	trance are	as-5
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC		First Offer - \$79.00	1 / month	\$79.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
SourceOne_		First Offer - \$99.00	1 / month	\$99.00		Ú

		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$175.00	1 / month	\$175.00	Ú	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$180.00	1 / month	\$180.00	Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$409.01	1 / month	\$409.01	l O	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes: Total Price = Price per r	month for service		

2361211-03 Central Maintenance Facility-Rad	dio Repai	ir -(3,125 sq. ft.)-Option	B: Daily Restroom Se	rvices-5 times per we	ek	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>Fenway Enterprises</u>		First Offer - \$60.00	1 / month	\$60.00		Ú
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Spic & Span Commercial Cleaning LLC		First Offer - \$79.00	1 / month	\$79.00		J
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
<u>SourceOne</u>		First Offer - \$99.00	1 / month	\$99.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
A&T Property Management, LLC		First Offer - \$200.00	1 / month	\$200.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$409.01	1 / month	\$409.01		Ú
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
			Total Price = Price per month for service			

2361212-01 Central Maintenance Facility-Radio Repair -(3,125 sq. ft.)-Alternate: Floor Reconditioning when requested								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
A&T Property Management, LLC	First Offer - \$0.15	1 / square foot	\$0.15		Ŋ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ŋ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
		Total Price = Price per s	square foot					
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35		Ŋ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
		1000 sqft minimum						
<u>SourceOne</u>	First Offer - \$450.00	1 / square foot	\$450.00		Ø			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Fenway Enterprises	First Offer - \$2,000.00	1 / square foot	\$2,000.00		Ú			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$0.15	1 / square foot	\$0.15		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ð	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: 1000 sqft minimum	le:			
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Total Price = Price per square foot					
<u>SourceOne</u>	First Offer - \$265.00	1 / square foot	\$265.00		Ð	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Fenway Enterprises	First Offer - \$1,300.00	1 / square foot	\$1,300.00		Ú	
		Supplier Product Code: Supplier Notes:				

2361212-03 Central Maintenance Facility-Radio Rep	air -(3,125 sq. ft.)-Alterna	te: Window cleaning v	when requested-Insid	de Window	/S
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		J
Product Code:	Supplier Product Cod	le:			
Agency Notes: Su		Supplier Notes:			
		\$5 per window			
<u>SourceOne</u>	First Offer - \$95.00	1/job	\$95.00		J
Product Code:	Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:			
A&T Property Management, LLC	First Offer - \$100.00	1/job	\$100.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Fenway Enterprises	First Offer - \$150.00	1/job	\$150.00		J
Product Code:		Supplier Product Code:			
Agency Notes:	Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
		Total price = Price per floor for service			

2361212-04 Central Maintenance Facility-Radio Repair -(3,125 sq. ft.)-Alternate: Window cleaning when requested-Outside Windows							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		Ú		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: \$7 per window	de:				
<u>SourceOne</u>	First Offer - \$95.00	1/job	\$95.00		Ú		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Fenway Enterprises	First Offer - \$150.00	1/job	\$150.00		Ú		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
A&T Property Management, LLC	First Offer - \$150.00	1/job	\$150.00		Ú		
Product Code:		Supplier Product Code:					

Agency Notes: Su		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú	
Product Code:	Supplier Product Code:					
Agency Notes:	Supplier Notes:					
		Total price = Price per floor for service				

2361213-01 Central Maintenance Facility-Household Hazardous Waste-(1,270 sq. ft.)-Option A: Clean floors 5 times per week						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC		First Offer - \$32.00	1 / month	\$32.00		J
Product Code: Agency Notes:	·		Supplier Product Co Supplier Notes:	de:		
Fenway Enterprises		First Offer - \$45.00	1 / month	\$45.00		J
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
SourceOne_		First Offer - \$59.00	1 / month	\$59.00		Ú
		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC		First Offer - \$190.00	1 / month	\$190.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$477.17	1 / month	\$477.17		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
			Total Price = Price per	month for service		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$32.00) 1/month \$32.00				
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00)	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Fenway Enterprises	First Offer - \$95.00	1 / month	\$95.00		Ú	
		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$150.00	1 / month	\$150.00		Ú	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Goodwill Industries of Central Oklahoma	First Offer - \$409.01	1 / month	\$409.01		Ú)	
Product Code:	1 1	Supplier Product Code:				
Agency Notes:		Supplier Notes:				
		Total Price = Price per month for service				

2361213-03 Central Maintenance Facility-Household Hazardous Waste-(1,270 sq. ft.)-Option A: Daily Restroom Services-5 times per week								
Supplier	Unit Price Qty/Unit Total Price Att							
Fenway Enterprises	First Offer - \$25.00	1 / month	\$25.00		Ø			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Spic & Span Commercial Cleaning LLC	First Offer - \$32.00	1 / month	\$32.00		Ø			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

<u>SourceOne</u>		First Offer - \$59.00	1 / month	\$59.00	U
			Supplier Product Co Supplier Notes:	ode:	
A&T Property Management, LLC		First Offer - \$150.00	1 / month	\$150.00	Ú
		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$409.01	1 / month	\$409.01	J
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month for service			

2361214-01 Central Maintenance Facility-Ho	usehold Hazardous Waste-(1,27	0 sq. ft.)-Option B: Cle	ean floors 3 times per	week		
Supplier	Unit Price	Price Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$29.00	1 / month	\$29.00		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$35.00	1 / month	\$35.00		J	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$49.00	1 / month	\$49.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$150.00	1 / month	\$150.00		Ú	
Product Code:		Supplier Product Code:				
		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$286.31	1 / month	\$286.31		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
		Total Price = Price per month for service				

2361214-02 Central Maintenance Facility-Household I	Hazardous Waste-(1,270) sq. ft.)-Option B: Clea	an office areas, brea	k rooms ar	nd
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$32.00	1 / month	\$32.00		Ú
		Supplier Product Cod Supplier Notes:	le:		
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00		Ú
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
Fenway Enterprises	First Offer - \$85.00	1 / month	\$85.00		Ð
		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$150.00	1 / month	\$150.00		Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$409.01	1 / month	\$409.01		Ú
Agency Notes:		Supplier Product Code: Supplier Notes: Total price = Price per month for service			

Supplier Unit Price Qty/Unit Total Price Attch.	2361214-03 Central Maintenance Facility-Household Hazardous Waste-(1,270 sq. ft.)-Option B: Daily Restroom Services-5 times per week							
	Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Fenway Enterprises	First Offer - \$15.00	1 / month	\$15.00	0
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$32.00	1 / month	\$32.00	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
SourceOne SourceOne	First Offer - \$59.00	1 / month	\$59.00	J
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$125.00	 	\$125.00	Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$409.01	1 / month	\$409.01	U
Agency Notes:		Supplier Product Code: Supplier Notes: Total price = Price per month for service		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Goodwill Industries of Central Oklahoma		First Offer - \$0.29	1 / square foot	\$0.29		Ū
Product Code:			Supplier Product Code:	'	'	
Agency Notes:			Supplier Notes:			
			Total Price = Price per squ	are foot cleaned		
A&T Property Management, LLC		First Offer - \$0.30	1 / square foot	\$0.30		Ú)
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Spic & Span Commercial Cleaning LLC		First Offer - \$0.35	1 / square foot	\$0.35		Ú
Product Code:			Supplier Product Code:	,		
Agency Notes:			Supplier Notes:			
			1000 sqft minimum			
Fenway Enterprises		First Offer - \$100.00	1 / square foot	\$100.00		(j)
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
<u>SourceOne</u>		First Offer - \$195.00	1 / square foot	\$195.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

2361215-02 Central Maintenance Facility-Household	Hazardous Waste-(1,27	0 sq. ft.)-Alternate: Cai	pet Cleaning when r	equested	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		J
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 1000 sqft minimum				
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per square foot cleaned			
A&T Property Management, LLC	First Offer - \$0.30	1 / square foot	\$0.30		J
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Fenway Enterprises	First Offer - \$100.00	1 / square foot	\$100.00		J
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

<u>SourceOne</u>	First Offer - \$149.00	1 / square foot	\$149.00	Ú
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$5 per window				
<u>SourceOne</u>	First Offer - \$25.00	1/job	\$25.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$50.00	1/job	\$50.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$100.00	1/job	\$100.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Total Price = Price pe	r floor per bldg for serv	ice	

2361215-04 Central Maintenance Facility-Household Windows	Hazardous Waste-(1,270) sq. ft.)-Alternate: Wi	indow cleaning when	requeste	d-Outside	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		J	
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window				
<u>SourceOne</u>	First Offer - \$25.00	1/job	\$25.00		Ŋ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$50.00	1/job	\$50.00		Ð	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$100.00	1/job	\$100.00		Ŋ	
		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ŋ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: Total Price = Price per	de: floor per bldg for serv	ice		

2361216-01 Central Maintenance Facility-Field Services-(8,596 sq. ft.)-Option A: Clean floors 5 times per week								
Supplier	Unit Price Qty/Unit Total Price Attch.							
<u>SourceOne</u>	First Offer - \$195.00	1 / month	\$195.00		Ú			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Spic & Span Commercial Cleaning LLC	First Offer - \$218.00	1 / month	\$218.00		Ú			
Product Code:		Supplier Product Co	ode:					

Agency Notes:			Supplier Notes:			
Fenway Enterprises		First Offer - \$400.00	1 / month	\$400.00		Ú)
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:	·	
A&T Property Management, LLC		First Offer - \$900.00	1 / month	\$900.00		Ú)
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$1,431.45	1 / month	\$1,431.45		J
		Supplier Product Code: Supplier Notes: Total Price = price per month for service			2	

2361216-02 Central Maintenance Facility-Field Servic times per week	es-(8,596 sq. ft.)-Option	A: Clean office areas, l	oreak rooms and en	trance are	as-5	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SourceOne_	First Offer - \$195.00	1 / month	\$195.00		J	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e :			
Spic & Span Commercial Cleaning LLC	First Offer - \$218.00	1 / month	\$218.00		J	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
A&T Property Management, LLC	First Offer - \$300.00	1 / month	\$300.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$558.00	1 / month	\$558.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$817.96	1 / month	\$817.96		J	
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = price per month for service				

2361216-03 Central Maintenance Facility-Field Services-(8,596 sq. ft.)-Option A: Daily Restroom Services-5 times per week									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Fenway Enterprises	First Offer - \$167.00	1 / month	\$167.00		Ú				
		Supplier Product Cod Supplier Notes:	e:						
<u>SourceOne</u>	First Offer - \$195.00	1 / month	\$195.00		Ú				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
Spic & Span Commercial Cleaning LLC	First Offer - \$218.00	1 / month	\$218.00		J				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
A&T Property Management, LLC	First Offer - \$250.00	1 / month	\$250.00		J				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		J				
		Supplier Product Code: Supplier Notes: Total Price = price per month for service							

2361217-01 Central Maintenance Facility-Field Services-(8,596 sq. ft.)-Option B: Clean floors 3 times per week								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

First Offer - \$165.00	1 / month	\$165.00	- U		
Product Code:					
	Supplier Notes:				
First Offer - \$201.00	1 / month	\$201.00	Ú		
	Supplier Product Cod	de:			
	Supplier Notes:				
First Offer - \$300.00	1 / month	\$300.00	ı j		
	Supplier Product Code:				
	Supplier Notes:				
First Offer - \$400.00	1 / month	\$400.00	- U		
	Supplier Product Code:				
	Supplier Notes:				
First Offer - \$858.86	1 / month	\$858.86	- U		
	Supplier Product Cod	de:	·		
Agency Notes:		Supplier Notes:			
	Total Price = price per	month for service			
	First Offer - \$201.00 First Offer - \$300.00 First Offer - \$400.00	Supplier Product Coo Supplier Notes: First Offer - \$201.00 1 / month Supplier Product Coo Supplier Notes: First Offer - \$300.00 1 / month Supplier Product Coo Supplier Notes: First Offer - \$400.00 1 / month Supplier Product Coo Supplier Notes: First Offer - \$858.86 1 / month Supplier Product Coo Supplier Product Coo Supplier Notes:	Supplier Product Code: Supplier Notes:		

2361217-02 Central Maintenance Facility-Field Service	es-(8,596 sq. ft.)-Option	B: Clean office areas,	break rooms and en	trance are	as-5	
times per week						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$190.00	1 / month	\$190.00		Ú	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$195.00	1 / month	\$195.00		Ú	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$218.00	1 / month	\$218.00		Ũ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$458.00	1 / month	\$458.00		Ú	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$817.96	1 / month	\$817.96		Ú	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
		Total Price = Price per	month for service			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fenway Enterprises	First Offer - \$157.00	1 / month	\$157.00		Ū
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
<u>SourceOne</u>	First Offer - \$195.00	1 / month	\$195.00		Ú)
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
A&T Property Management, LLC	First Offer - \$200.00	1 / month	\$200.00		Ú)
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$218.00	1 / month	\$218.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:
	Total Price = Price per month for service

2361218-01 Central Maintenance Facility-Field Servi	ces-(8,596 sq. ft.)-Alternat	te: Floor Reconditionin	g when requested		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.18	1 / square foot	\$0.18		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per square foot cleaned			
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35		Ð
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 1000 sqft minimum				
Fenway Enterprises	First Offer - \$1,000.00	1 / square foot	\$1,000.00		Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SourceOne_	First Offer - \$1,100.00	1 / square foot	\$1,100.00		Ð
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		

2361218-02 Central Maintenance Facility-Field Service	es-(8,596 sq. ft.)-Alterna	ite: Carpet Cleaning w	hen requested			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$0.18	1 / square foot	\$0.18		J	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
		1000 sqft minimum				
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
		Total Price = Price per s	quare foot cleaned			
Fenway Enterprises	First Offer - \$330.00	1 / square foot	\$330.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$700.00	1 / square foot	\$700.00		Ú	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

2361218-03 Central Maintenance Facility-Field Services-(8,596 sq. ft.)-Alternate: Window cleaning when requested-Inside Windows						
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc				
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Û	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
		\$5 per window				
Fenway Enterprises	First Offer - \$100.00	1/job	\$100.00		Û	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

<u>SourceOne</u>		First Offer - \$195.00	1/job	\$195.00	0	
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
A&T Property Management, LLC		First Offer - \$200.00	1/job	\$200.00	Ø	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$976.00	1/job	\$976.00	U	
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
			Total Price = Price p	er floor per bldg for serv	ice	

2361218-04 Central Maintenance Facility-Field	l Servic	es-(8,596 sq. ft.)-Alterna	te: Window cleaninរូ	g when requested-Out	side Wind	ows
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC		First Offer - \$7.00	1/job	\$7.00		J
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window				
<u>SourceOne</u>		First Offer - \$135.00	1/job	\$135.00		Ú)
			Supplier Product Code: Supplier Notes:			
Fenway Enterprises		First Offer - \$150.00	1/job	\$150.00		Ú)
Product Code: Agency Notes:	'	,	Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC		First Offer - \$200.00	1/job	\$200.00		<u> </u>
		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma		First Offer - \$976.00	1/job	\$976.00		J
Product Code: Agency Notes:		,	Supplier Product Co Supplier Notes: Total Price = Price pe	ode: er floor per bldg for serv	ice	

2361219-01 Central Maintenance Facility-Street	Maintenance Admin-(10,082	sq. ft.)-Option A: Clea	an floors 5 times per v	week	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$229.00	1 / month	\$229.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Spic & Span Commercial Cleaning LLC	First Offer - \$255.00	1 / month	\$255.00		Ŋ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$392.00	1 / month	\$392.00		Ŋ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$975.00	1 / month	\$975.00		Ŋ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$1,431.43	1 / month	\$1,431.43		Ŋ
Product Code: Agency Notes:	1 1	Supplier Product Co Supplier Notes: Total Price = Price pe			

2361219-02 Central Maintenance Facility-Street Maientrance areas-5 times per week	intenance Admin-(10,082	sq. ft.)-Option A: Clea	an office areas, break	rooms an	d
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

A&T Property Management, LLC	First Offer - \$225.00	1 / month	\$225.00	Û	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
<u>SourceOne</u>	First Offer - \$229.00	1 / month	\$229.00	Ú	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$255.00	1 / month	\$255.00	Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$665.00	1 / month	\$665.00	Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$817.96	1 / month	\$817.96	l l	
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month for service			

2361219-03 Central Maintenance Facility-Stre			ī			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
<u>SourceOne</u>	First Offer - \$229.00	1 / month	\$229.00		Ø	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$255.00	1 / month	\$255.00		Ú	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$262.00	1 / month	\$262.00		Ð	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$300.00	1 / month	\$300.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
		Total Price = Price per month for service				

2361220-01 Central Maintenance Facility-Street Mair	ntenance Admin-(10,082	sq. ft.)-Option B: Clea	n floors 3 times per v	week	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$195.00	1 / month	\$195.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$235.00	1 / month	\$235.00		Ú
		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$295.00	1 / month	\$295.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$382.00	1 / month	\$382.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$858.86	1 / month	\$858.86		Ú
Product Code:	•	Supplier Product Cod	le:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$200.00	1 / month	\$200.00	71000111	(i)	
		Supplier Product Code Supplier Notes:	e:			
SourceOne_	First Offer - \$229.00	1 / month	\$229.00		<u> </u>	
		Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$255.00	1 / month	\$255.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$650.00	1 / month	\$650.00		<u> </u>	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Goodwill Industries of Central Oklahoma	First Offer - \$817.96	1 / month	\$817.96		J	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Total Price = Price per r				

2361220-03 Central Maintenance Facility-Stree	et Maintenance Admin-(10,082	sq. ft.)-Option B: Dai	ily Restroom Services-	5 times pe	er week	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$200.00	1 / month	\$200.00		Ú	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$229.00	1 / month	\$229.00		Ð	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$252.00	1 / month	\$252.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$255.00	1 / month	\$255.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ŋ	
Product Code:		Supplier Product Code:				
Agency Notes:		1	al Price = Price per mon	th for servi	ce	

2361221-01 Central Maintenance Facility-Street Maintenance Admin-(10,082 sq. ft.)-Alternate: Floor Reconditioning when requested								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
A&T Property Management, LLC	First Offer - \$0.18	1 / square foot	\$0.18		Ú			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
		Total price = Price per	Sq Ft cleaned					
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35		J			
Product Code:	•	Supplier Product Cod	de:		-			

Agency Notes:		Supplier Notes:		
		1000 sqft minimum		
Fenway Enterprises	First Offer - \$600.00	1 / square foot	\$600.00	J J
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
<u>SourceOne</u>	First Offer - \$1,100.00	1 / square foot	\$1,100.00	U
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

2361221-02 Central Maintenance Facility-Street Mair	ntenance Admin-(10,082	sq. ft.)-Alternate: Car _l	pet Cleaning when re	equested	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.18	1 / square foot	\$0.18		Ŋ
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	2:			
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		<u> </u>
Product Code: Agency Notes:	- n-r				
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Total price = Price per S			
Fenway Enterprises	First Offer - \$400.00	1 / square foot	\$400.00		Ú
		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>	First Offer - \$750.00	1 / square foot	\$750.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

2361221-03 Central Maintenance Facility-Street Mair Windows	ntenance Admin-(10,082	sq. ft.)-Alternate: Wir	ndow cleaning when	requested	-Inside	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: \$5 per window				
Fenway Enterprises	First Offer - \$100.00	1/job	\$100.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
<u>SourceOne</u>	First Offer - \$195.00	1/job	\$195.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$250.00	1/job	\$250.00		Ð	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú	
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: Total Price = Price per		d		

2361221-04 Central Maintenance Facility-Street Maintenance Admin-(10,082 sq. ft.)-Alternate: Window cleaning when requested-Outside Windows								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00	0	
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window			
SourceOne SourceOne	First Offer - \$135.00	1/job	\$135.00	U	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$150.00	1/job	\$150.00	U	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$250.00	1/job	\$250.00	U	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00	U	
Agency Notes:		Supplier Product Code: Supplier Notes: Total price = Price per floor per bldg serviced			

2361222-01 Central Maintenance Facility-Str	eet Main	tenance Crew Room-(4	,050 sq. ft.)-Option A:	Clean floors 5 times	per week		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
<u>SourceOne</u>		First Offer - \$99.00	1 / month	\$99.00		Ú	
Product Code:		Supplier Product Co	de:				
Agency Notes:			Supplier Notes:				
Spic & Span Commercial Cleaning LLC		First Offer - \$103.00	1 / month	\$103.00		J	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
Fenway Enterprises		First Offer - \$150.00	1 / month	\$150.00		Ŋ	
Product Code:	'		Supplier Product Code:				
Agency Notes:			Supplier Notes:				
A&T Property Management, LLC		First Offer - \$400.00	1 / month	\$400.00		Ŋ	
Product Code:		ı	Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Goodwill Industries of Central Oklahoma		First Offer - \$954.29	1 / month	\$954.29		Ŋ	
Product Code:		Supplier Product Code:					
Agency Notes:			Supplier Notes:				
			Total Price = Price per	month for service			

2361222-02 Central Maintenance Facility-Str entrance areas-5 times per week	eet Maintenance Crew Room-(4	,050 sq. rt.)-Option A:	Clean office areas, br	eak room:	s and	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
<u>SourceOne</u>	First Offer - \$99.00	1 / month	\$99.00		Ð	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$103.00	1 / month	\$103.00		Ú	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$195.00	1 / month	\$195.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
<u>Fenway Enterprises</u>	First Offer - \$300.00	1 / month	\$300.00		Ú	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98			

					Ú	
Product Code:	S	Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
	Т	Total Price = Price per	month for service			

2361222-03 Central Maintenance Facility-Street week	Maintenance Crew Room-(4	,050 sq. ft.)-Option A:	Daily Restroom Servi	ices-5 time	es per
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$75.00	1 / month	\$75.00		Ú
		Supplier Product Cod Supplier Notes:	de:		
Fenway Enterprises	First Offer - \$76.00	1 / month	\$76.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SourceOne_	First Offer - \$99.00	1 / month	\$99.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$103.00	1 / month	\$103.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú
Product Code: Agency Notes:	1 1	Supplier Product Coc Supplier Notes: Total Price = Price per			1

- N	,050 sq. ft.)-Option B: Clean floors 3 times per wo				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Doc
<u>SourceOne</u>	First Offer - \$81.00	1 / month	\$81.00		Ú
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$95.00	1 / month	\$95.00		Ð
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Fenway Enterprises_	First Offer - \$140.00	1 / month	\$140.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
A&T Property Management, LLC	First Offer - \$190.00	1 / month	\$190.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$572.57	1 / month	\$572.57		Ú
Product Code:	1 1	Supplier Product Co	de:		
Agency Notes:			Il Price = Price per mon	th for servi	-e

2361223-02 Central Maintenance Facility-Street entrance areas-5 times per week	: Maintenance Crew Room-(4,	050 sq. ft.)-Option B	: Clean office areas, br	eak room:	s and
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SourceOne_	First Offer - \$99.00	1 / month	\$99.00		Ú
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$103.00	1 / month	\$103.00		Ú
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

A&T Property Management, LLC		First Offer - \$195.00	1 / month	\$195.00	0	
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Fenway Enterprises		First Offer - \$290.00	1 / month	\$290.00	O	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$408.98	1 / month	\$408.98	Ú	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
			Total Price = Price per month for service			

2361223-03 Central Maintenance Facility-Street Main week	itenance Crew Room-(4,	050 sq. ft.)-Option B: I	Daily Restroom Servi	ces-5 time	s per
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fenway Enterprises	First Offer - \$66.00	1 / month	\$66.00		Ú
		Supplier Product Coo Supplier Notes:	le:	'	
A&T Property Management, LLC	First Offer - \$75.00	1 / month	\$75.00		Ú
		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>	First Offer - \$99.00	1 / month	\$99.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$103.00	1 / month	\$103.00		Ú
		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month for service			

2361224-01 Central Maintenance Facility-Street Maintenance Crew Room-(4,050 sq. ft.)-Alternate: Floor Reconditioning when requested							
Unit Price	Qty/Unit	Total Price	Attch.	Docs			
First Offer - \$0.25	1 / square foot	\$0.25		Ð			
	Supplier Product Cod	e:					
	Supplier Notes:						
First Offer - \$0.29	1 / square foot	\$0.29		Ú			
	Supplier Product Cod	e:					
	Supplier Notes:						
	Total Price = Price per s	square foot serviced					
First Offer - \$0.35	1 / square foot	\$0.35		Ŋ			
	Supplier Product Cod	e:					
	Supplier Notes:						
	1000 sqft minimum						
First Offer - \$400.00	1 / square foot	\$400.00		Ð			
	Supplier Product Cod	e:					
	Supplier Notes:						
First Offer - \$600.00	1 / square foot	\$600.00		Ð			
	Supplier Product Cod	e:					
	Supplier Notes:						
	First Offer - \$0.25 First Offer - \$0.29 First Offer - \$0.35	Unit Price Qty/Unit First Offer - \$0.25	Unit Price Qty/Unit Total Price First Offer - \$0.25	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$0.251 / square foot\$0.25Supplier Product Code: Supplier Notes:First Offer - \$0.291 / square foot\$0.29Supplier Product Code: Supplier Notes: Total Price = Price per square foot servicedFirst Offer - \$0.351 / square foot\$0.35Supplier Product Code: Supplier Notes: 1000 sqft minimumFirst Offer - \$400.001 / square foot\$400.00Supplier Product Code: Supplier Notes:First Offer - \$600.001 / square foot\$600.00Supplier Product Code:Supplier Product Code:Supplier Product Code:			

2361224-02 Central Maintenance Facility-Street Maintenance Crew Room-(4,050 sq. ft.)-Alternate: Carpet Cleaning when requested								
Supplier	Supplier Unit Price Qty/Unit Total Price Attch.							

Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20	0	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 1000 sqft minimum	·		
A&T Property Management, LLC	First Offer - \$0.25	1 / square foot	\$0.25	Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·	
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29	- U	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per square foot serviced			
<u>SourceOne</u>	First Offer - \$195.00	1 / square foot	\$195.00	l O	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$200.00	1 / square foot	\$200.00	l O	
Product Code:		Supplier Product Code:	I		

2361224-03 Central Maintenance Facility-Street Main Inside Windows	ntenance Crew Room-(4,	,050 sq. ft.)-Alternate:	: Window cleaning wh	nen reques	sted-
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ŋ
Agency Notes:		Supplier Product Code: Supplier Notes: \$5 per window			
<u>SourceOne</u>	First Offer - \$25.00	00 1/job \$25.00			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$100.00	1/job	\$100.00		Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$100.00	1/job	\$100.00		Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ŋ
Product Code: Agency Notes:	-	Supplier Product Coo Supplier Notes: Total Price = Price per	de: floor per bldg serviced	I	

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC		First Offer - \$7.00	1/job	\$7.00		J
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window				
<u>SourceOne</u>		First Offer - \$25.00	1/job	\$25.00		Ð
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC		First Offer - \$100.00	1/job	\$100.00		J
		Supplier Product Cod Supplier Notes:	de:			
Fenway Enterprises		First Offer - \$150.00	1/job	\$150.00		Ú

Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00	Ú	J
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes: Tot	al Price = Price per floor	per bldg service	:d

2361225-01 Central Maintenance Facility-Stre	eet Maintenance Shop-(1,150 sc	լ. ft.)-Option A: Clean	floors 5 times per we	ek		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$29.00	1 / month	\$29.00		Ð	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00		Ð	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$100.00	1 / month	\$100.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$150.00	1 / month	\$150.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$477.14	1 / month	\$477.14		Ú	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
		Total Price = Price per	r month for service			

2361225-02 Central Maintenance Facility-Street Main areas-5 times per week	tenance Shop-(1,150 sq	. ft.)-Option A: Clean o	ffice areas, break ro	oms and e	entrance	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$29.00	1 / month	\$29.00		Ú	
		Supplier Product Cod Supplier Notes:	e :			
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00		Ú	
		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$90.00	1 / month	\$90.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$175.00	1 / month	\$175.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month for service				

2361225-03 Central Maintenance Facility-Street Maintenance Shop-(1,150 sq. ft.)-Option A: Daily Restroom Services-5 times per week									
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch. Doc							
Spic & Span Commercial Cleaning LLC	First Offer - \$29.00	1 / month	\$29.00		Ú				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
A&T Property Management, LLC	First Offer - \$50.00	1 / month	\$50.00		Ú				
Product Code:	•	Supplier Product Co	de:						

Agency Notes:			Supplier Notes:			
<u>SourceOne</u>		First Offer - \$59.00	1 / month	\$59.00	Ú	
		Supplier Product Code: Supplier Notes:				
<u>Fenway Enterprises</u>		First Offer - \$75.00	1 / month	\$75.00	Ú	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$408.98	1 / month	\$408.98	l l	
Product Code:	·		Supplier Product Code:			
		Supplier Notes: Total Price = Price per month for service				

2361226-01 Central Maintenance Facility-Str	eet Maint	enance Shop-(1,150 sq	. ft.)-Option B: Clean	floors 3 times per we	ek	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC		First Offer - \$27.00	1 / month	\$27.00		J
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
<u>SourceOne</u>		First Offer - \$49.00	1 / month	\$49.00		J
Product Code:	oduct Code:		Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
A&T Property Management, LLC		First Offer - \$80.00	1 / month	\$80.00		Ú
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
<u>Fenway Enterprises</u>		First Offer - \$90.00	1 / month	\$90.00		Ú
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$286.29	1 / month	\$286.29		Ú
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
			Total Price = Price per	r month for service		

2361226-02 Central Maintenance Facility-Street Main areas-5 times per week	ntenance Shop-(1,150 sq	. ft.)-Option B: Clean o	office areas, break ro	oms and e	ntrance
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$29.00	1 / month	\$29.00		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
SourceOne_	First Offer - \$59.00	1 / month	\$59.00		Ú
		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$100.00	1 / month	\$100.00		Ú
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$165.00	1 / month	\$165.00		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Total Price = Price per			

2361226-03 Central Maintenance Facility-Street Maintenance Shop-(1,150 sq. ft.)-Option B: Daily Restroom Services-5 times per week							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Spic & Span Commercial Cleaning LLC	First Offer - \$29.00	1 / month	\$29.00	J	
Product Code:	Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:			
A&T Property Management, LLC	First Offer - \$50.00	1 / month	\$50.00	l l	
Product Code:	Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:			
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00	- U	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Fenway Enterprises	First Offer - \$65.00	1 / month	\$65.00	l l	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98	l l	
Product Code:	-	Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Total Price = Price per month for service			month for service		

2361227-01 Central Maintenance Facility-Street Maintenance Shop-(1,150 sq. ft.)-Alternate: Floor Reconditioning when requested								
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do						
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		(j)			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
		Total Price = Price per s	quare foot serviced					
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35		J			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
		1000 sqft minimum						
		·						
A&T Property Management, LLC	First Offer - \$0.50	1 / square foot	\$0.50		Ú			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
<u>SourceOne</u>	First Offer - \$149.00	1 / square foot	\$149.00		Ú			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Fenway Enterprises	First Offer - \$200.00	1 / square foot	\$200.00		Ú)			
Product Code:	-	Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

2361227-02 Central Maintenance Facility-Street Ma	intenance Shop-(1,150 sc	լ. ft.)-Alternate: Carpe	t Cleaning when requ	ested	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: 1000 sqft minimum	e:		
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Total Price = Price per s		,	
A&T Property Management, LLC	First Offer - \$0.50	1 / square foot	\$0.50		Ú
Product Code: Agency Notes:	'	Supplier Product Cod Supplier Notes:	e:		
<u>SourceOne</u>	First Offer - \$95.00	1 / square foot	\$95.00		Ú

Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
<u>Fenway Enterprises</u>	First Offer - \$200.00	1 / square foot	\$200.00	Ú
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

2361227-03 Central Maintenance Facility-Stre Windows	et Maintenance Shop-(1,150 sq	. ft.)-Alternate: Wind	dow cleaning when red	quested-In	side	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: \$5 per window				
<u>SourceOne</u>	First Offer - \$25.00	1/job	\$25.00		Ú	
		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$75.00	1/job	\$75.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$100.00	1/job	\$100.00		Ú)	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú)	
Product Code: Agency Notes:	1 1	Supplier Product Co Supplier Notes: Total Price = Price pe	ode: er floor per bldg serviced	d		

2361227-04 Central Maintenance Facility-Street Main Windows	tenance Shop-(1,150 sq	. ft.)-Alternate: Window	cleaning when rec	ျuested-O၊	utside
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		Ú
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window			
<u>SourceOne</u>	First Offer - \$25.00	1/job	\$25.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$75.00	1/job	\$75.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$150.00	1/job	\$150.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Total Price = Price per flo		I	

2361228-01 Central Maintenance Facility-Street Maintenance Warehouse-(537 sq. ft.)-Option A: Clean floors 5 times per week								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ú			

		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$45.00 1 / month \$45.00				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00	- U	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$90.00	1 / month	\$90.00	- U	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Goodwill Industries of Central Oklahoma	First Offer - \$477.14	1 / month	\$477.14	Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Total Price = Price per r			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ú	
		Supplier Product Co Supplier Notes:	de:			
SourceOne_	First Offer - \$59.00	1 / month	\$59.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Fenway Enterprises	First Offer - \$60.00	1 / month	\$60.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$65.00	1 / month	\$65.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month for service				

2361228-03 Central Maintenance Facility-Street Maintenance Warehouse-(537 sq. ft.)-Option A: Daily Restroom Services-5 times per week								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ŋ			
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:						
Fenway Enterprises	First Offer - \$30.00	1 / month	\$30.00		Ð			
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:						
A&T Property Management, LLC	First Offer - \$45.00	1 / month	\$45.00		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SourceOne_	First Offer - \$59.00	1 / month	\$59.00		Ú			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

2361229-01 Central Maintenance Facility-Str	eet Main	tenance Warehouse-(53	37 sq. ft.)-Option B: Cl	ean floors 3 times pe	r week	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC		First Offer - \$12.00	1 / month	\$12.00		J
		Supplier Product Co Supplier Notes:	de:			
SourceOne_		First Offer - \$49.00	1 / month	\$49.00		Ú
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Fenway Enterprises		First Offer - \$50.00	1 / month	\$50.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC		First Offer - \$65.00	1 / month	\$65.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$286.29	1 / month	\$286.29		Ú
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Total Price = Price per month for service						

2361229-02 Central Maintenance Facility-Street Main entrance areas-5 times per week	tenance Warehouse-(5	37 sq. ft.)-Option B: Cl	ean office areas, brea	ak rooms a	and	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ú	
		Supplier Product Cod Supplier Notes:	de:			
Fenway Enterprises	First Offer - \$35.00	1 / month	\$35.00		Ú	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:			
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$65.00	1 / month	\$65.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: Total Price = Price per				

2361229-03 Central Maintenance Facility-Stro	eet Maintenance Warehou	se-(537 sq. ft.)-Option B: D	aily Restroom Service	es-5 times	per weel	
Supplier	Unit I	Price Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$1	4.00 1 / month	\$14.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Fenway Enterprises	First Offer - \$2	0.00 1 / month	\$20.00		J	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$4	5.00 1 / month	\$45.00		Ð	
		Supplier Product Code: Supplier Notes:				

<u>SourceOne</u>		First Offer - \$59.00	1 / month	\$59.00		Ũ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Goodwill Industries of Central Oklahoma		First Offer - \$408.98	1 / month	\$408.98		Ŋ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
		Total Price = Price per month for service					

2361230-01 Central Maintenance Facility-Stre	et Main	tenance Warehouse-(5	37 sq. ft.)-Alternate: Flo	or Reconditioning v	vhen requ	ested	
Supplier		Unit Price Q	Qty/Unit	Total Price	Attch.	Docs	
Goodwill Industries of Central Oklahoma		First Offer - \$0.29	1 / square foot	\$0.29		J	
Product Code:			Supplier Product Code	:			
Agency Notes:			Supplier Notes:				
			Total Price = Price per sc	quare foot serviced			
Spic & Span Commercial Cleaning LLC		First Offer - \$0.35	1 / square foot	\$0.35		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
			1000 sqft minimum				
A&T Property Management, LLC		First Offer - \$0.95	1 / square foot	\$0.95		Ú	
Product Code:			Supplier Product Code	•			
Agency Notes:			Supplier Notes:				
Fenway Enterprises		First Offer - \$100.00	1 / square foot	\$100.00		J	
Product Code:			Supplier Product Code	•			
Agency Notes:			Supplier Notes:				
SourceOne_		First Offer - \$100.00	1 / square foot	\$100.00		Ú	
Product Code:			Supplier Product Code	:			
Agency Notes:			Supplier Notes:				

2361230-02 Central Maintenance Facility-Street Maintenance Warehouse-(537 sq. ft.)-Alternate: Carpet Cleaning when requested									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes: 1000 sqft minimum							
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Total Price = Price per square foot serviced								
A&T Property Management, LLC	First Offer - \$0.95	1 / square foot	\$0.95		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Fenway Enterprises	First Offer - \$100.00	1 / square foot	\$100.00		J				
		Supplier Product Cod Supplier Notes:	e:						
<u>SourceOne</u>	First Offer - \$100.00	1 / square foot	\$100.00		Ú				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						

2361230-03 Central Maintenance Facility-Street Maintenance Warehouse-(537 sq. ft.)-Alternate: Window cleaning when requested-Inside Windows									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ú				
Product Code:		Supplier Product Co	de:						

Agency Notes:	Supplier Notes:					
	\$5 per window					
<u>SourceOne</u>	First Offer - \$25.00	1/job \$25.00				
Product Code:	Supplier Product Co	de:				
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$50.00	1/job	\$50.00	Ú		
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$75.00	1/job	\$75.00	Ú		
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00	Ú		
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
		Total Price = Price pe	r floor per bldg serviced			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		J
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window			
<u>SourceOne</u>	First Offer - \$25.00	1/job	\$25.00		J
		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$50.00	1/job	\$50.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$100.00	1/job	\$100.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Total Price = Price per f		i	

2361231-01 Central Maintenance Facility-Street Main	tenance Traffic Ops-(54	4 sq. ft.)-Option A: Cle	an floors 5 times per	week		
Supplier	Unit Price	Qty/Unit	Total Price Attch.			
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ú)	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$45.00	1 / month	\$45.00		J	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00		Ú	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$100.00	1 / month	\$100.00		J	
Product Code:		Supplier Product Cod	e:	'		
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$477.14	1 / month	\$477.14		Ú	
Product Code:	:	Supplier Product Cod	e:			

Total Price = Price per month

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ú
		Supplier Product Co Supplier Notes:	de:		
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$70.00	1 / month	\$70.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$75.00	1 / month	\$75.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú
Product Code: Agency Notes:	- 1	Supplier Product Co Supplier Notes: Tota	de: Il Price = Price per mon	th	ı

2361231-03 Central Maintenance Facility-Stre	eet Maintenance Traffic Ops-(54	4 sq. ft.)-Option A: Da	aily Restroom Service	s-5 times p	er week	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ú	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$35.00	1 / month	\$35.00		Ð	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$50.00	1 / month	\$50.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00		Ú	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
		Total Price = Price per	rmonth			

2361232-01 Central Maintenance Facility-Street Main	tenance Traffic Ops-(54	4 sq. ft.)-Option B: Cl	ean floors 3 times pe	r week	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$12.00	1 / month	\$12.00		Ú
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
<u>SourceOne</u>	First Offer - \$49.00	1 / month	\$49.00		Ú
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Fenway Enterprises	First Offer - \$70.00	1 / month	\$70.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

A&T Property Management, LLC	First Offer - \$75.00	1 / month	\$75.00	U		
		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$286.29	1 / month	\$286.29	D		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: Total Price = Price per		·		

2361232-02 Central Maintenance Facility-Street Main entrance areas-5 times per week	tenance Traffic Ops-(54	l4 sq. ft.)-Option B: Cl	ean office areas, brea	k rooms a	nd	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ú)	
		Supplier Product Co Supplier Notes:	de:			
Fenway Enterprises	First Offer - \$45.00	1 / month	\$45.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
<u>SourceOne</u>	First Offer - \$59.00	1 / month	\$59.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$70.00	1 / month	\$70.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: Total Price = Price per				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$14.00	1 / month	\$14.00		Ú
		Supplier Product Co Supplier Notes:	de:		
Fenway Enterprises	First Offer - \$25.00	1 / month	\$25.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
A&T Property Management, LLC	First Offer - \$50.00	1 / month	\$50.00		Û
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SourceOne_	First Offer - \$59.00	1 / month	\$59.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ð
		Supplier Product Code: Supplier Notes: Total Price = Price per month			

2361233-01 Central Maintenance Facility-Street Maintenance Traffic Ops-(544 sq. ft.)-Alternate: Floor Reconditioning when requested								
Supplier	Unit Price	rice Qty/Unit Total Price Attch. I						
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ð			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
		Total Price = Price per square foot serviced						

Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35	J
<u> </u>	11130 01101 - \$0.55	17 3quare 100t	Ψ0.55	
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
		1000 sqft minimum		
A&T Property Management, LLC	First Offer - \$0.95	1 / square foot	\$0.95	- U
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SourceOne_	First Offer - \$50.00	1 / square foot	\$50.00	- U
Product Code:		Supplier Product Code:	·	
Agency Notes:		Supplier Notes:		
Fenway Enterprises	First Offer - \$100.00	1 / square foot	\$100.00	U
Product Code:		Supplier Product Code:	'	
Agency Notes:		Supplier Notes:		

2361233-02 Central Maintenance Facility-Street Main	ntenance Traffic Ops-(5	44 sq. ft.)-Alternate: Car	pet Cleaning when	requested		
Supplier	Unit Price	Qty/Unit	Attch.	Docs		
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú	
Product Code:	-	Supplier Product Code:		•		
Agency Notes:		Supplier Notes: 1000 sqft minimum				
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú	
		Supplier Product Code: Supplier Notes: Total Price = Price per square foot serviced				
A&T Property Management, LLC	First Offer - \$0.95	1 / square foot	\$0.95		Ú	
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$50.00	1 / square foot	\$50.00		Ú	
		Supplier Product Code: Supplier Notes:				
<u>SourceOne</u>	First Offer - \$50.00	1 / square foot	\$50.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: \$5 per window				
<u>SourceOne</u>	First Offer - \$25.00	1/job	\$25.00		Ú	
		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$50.00	1/job	\$50.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$50.00	1/job	\$50.00		Ú	
		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window				
<u>SourceOne</u>	First Offer - \$25.00	1/job	\$25.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$50.00	1/job	\$50.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$50.00	1/job	\$50.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per floor per bldg serviced				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SourceOne	First Offer - \$135.00	1 / month	\$135.00	Accen.	DOCS
	1130 01101 \$155.00				W
Product Code:	Supplier Product Co	de:			
Agency Notes:	Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$147.00	1 / month	\$147.00		U
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
<u>Fenway Enterprises</u>	First Offer - \$200.00	1 / month	\$200.00		J
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
A&T Property Management, LLC	First Offer - \$550.00	1 / month	\$550.00		Ú
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$715.72	1 / month	\$715.72		Ú
Product Code:	Supplier Product Code:				
		Supplier Notes: Total Price = Price per month			

2361234-02 Central Maintenance Facility-Training times per week	Ç Ce	nter-(5,800 sq. ft.)-Optio	n A: Clean office are	eas, break rooms and o	entrance a	reas-5
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>		First Offer - \$135.00	1 / month	\$135.00		Ú
			Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC		First Offer - \$147.00	1 / month	\$147.00		J
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC		First Offer - \$175.00	1 / month	\$175.00		Ú
Product Code:		•	Supplier Product Co	ode:		

Agency Notes:			Supplier Notes:			
<u>Fenway Enterprises</u>		First Offer - \$450.00	1 / month	\$450.00	Ú	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$817.96	1 / month	\$817.96	Ú	
			Supplier Product Code: Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC		First Offer - \$85.00	1 / month	\$85.00		Ŋ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Fenway Enterprises	F	First Offer - \$104.00	1 / month	\$104.00		Ŋ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
<u>SourceOne</u>	F	First Offer - \$135.00	1 / month	\$135.00		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Spic & Span Commercial Cleaning LLC	F	First Offer - \$147.00	1 / month	\$147.00		Ú	
Product Code:			Supplier Product Code:				
			Supplier Notes:				
Goodwill Industries of Central Oklahoma	F	First Offer - \$613.47	1 / month	\$613.47		Ŋ	
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
			Total Price = Price per month				

2361235-01 Central Maintenance Facility-Training C	enter-(5,800 sq. ft.)-Optio	n B: Clean floors 3 tir	mes per week		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
<u>SourceOne</u>	First Offer - \$95.00	1 / month	\$95.00		Ú
Product Code:	Supplier Product Co	de:			
Agency Notes:	Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$135.00	1 / month	\$135.00		Ú
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
<u>Fenway Enterprises</u>	First Offer - \$150.00	1 / month	\$150.00		Ú
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
A&T Property Management, LLC	First Offer - \$290.00	1 / month	\$290.00		Ú
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$429.43	1 / month	\$429.43		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
		Total Price = Price per month			

2361235-02 Central Maintenance Facility-Training Center-(5,800 sq. ft.)-Option B: Clean office areas, break rooms and entrance areas-5 times per week							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
<u>SourceOne</u>	First Offer - \$135.00	1 / month	\$135.00		Ú		

		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC First Offer - \$147.00		+	\$147.00	Ú	
		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC First Offer - \$165.00		1 / month	\$165.00	Ú	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$350.00	1 / month	\$350.00	l O	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$817.96	1 / month	\$817.96	- U	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
		Total Price = Price per r	nonth		

Supplier	Un	it Price	e Qty/Unit	Total Price	Attch.	Docs	
<u>Fenway Enterprises</u>	First Offer -		1 / month	\$80.00	7 1000111	J	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
A&T Property Management, LLC	First Offer -	\$85.00	1 / month	\$85.00		Ŋ	
Product Code:			Supplier Product Co	de:			
Agency Notes:		Supplier Notes:					
<u>SourceOne</u>	First Offer - \$	135.00	1 / month	\$135.00		Ú	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$	147.00	1 / month	\$147.00		Ŋ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$	613.47	1 / month	\$613.47		Ð	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
			Total Price = Price per month				

2361236-01 Central Maintenance Facility-Training Ce	enter-(5,800 sq. ft.)-Alter	nate: Floor Reconditio	ning when requeste	d	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.25	1 / square foot	\$0.25		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Total F		e foot for s	ervice
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35		J
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 1000 sqft minimum	e:		
SourceOne_	First Offer - \$295.00	1 / square foot	\$295.00		J
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Fenway Enterprises	First Offer - \$300.00	1 / square foot	\$300.00		J
Product Code:	•	Supplier Product Code	e: •		

Agency Notes: Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú
Product Code:		Supplier Product Code:	1		
Agency Notes:		Supplier Notes:			
	 I	1000 sqft minimum			
A&T Property Management, LLC	First Offer - \$0.25	1 / square foot	\$0.25		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ð
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
		Total Price = Price per square foot for service			
Fenway Enterprises	First Offer - \$175.00	1 / square foot	\$175.00		Ð
Product Code:		Supplier Product Code:	-		
Agency Notes:		Supplier Notes:			
SourceOne_	First Offer - \$295.00	1 / square foot	\$295.00		Ú
Product Code:	 1	Supplier Product Code:			
Agency Notes:		Supplier Notes:			

2361236-03 Central Maintenance Facility-Training Cen	nter-(5,800 sq. ft.)-Alteri	nate: Window cleaning	g when requested-In	side Wind	ows
Supplier	upplier Unit Price			Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ú)
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
		\$5 per window			
<u>SourceOne</u>	First Offer - \$35.00	1/job	\$35.00) U
Product Code:	Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:			
Fenway Enterprises	First Offer - \$100.00	1/job	\$100.00		Ú
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
A&T Property Management, LLC	First Offer - \$250.00	1/job	\$250.00		Ú
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ū
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
		Total Price = Price per f	loor per bldg serviced	1	

2361236-04 Central Maintenance Facility-Training Co Ground Floor	enter-(5,800 sq. ft.)-Alteri	nate: Window cleanir	ng when requested-O	utside Wir	ndows,	
Supplier	Qty/Unit	Total Price	Attch.	Docs		
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window				
<u>SourceOne</u>	First Offer - \$35.00	1/job	\$35.00		Ú	
		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$150.00	1/job	\$150.00		Ú	

Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
A&T Property Management, LLC		First Offer - \$250.00	1/job	\$250.00	ı j
		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$976.00	1/job	\$976.00	l d
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
			Total Price = Price pe	er floor per bldg serviced	

2361237-01 Central Maintenance Facility-Flo	et Services (not shop areas)-(4,4	13 sq. ft.)-Option A: C	lean floors 5 times pe	r week		
Supplier	Unit Price	Qty/Unit	Total Price Attch.	Attch.	Docs	
<u>SourceOne</u>	First Offer - \$100.00	1 / month	\$100.00		Ú	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$112.00	1 / month	\$112.00		Ú	
Product Code:		Supplier Product Co	de:			
		Supplier Notes:				
Fenway Enterprises	First Offer - \$125.00	1 / month	\$125.00		Ŋ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$195.00	1 / month	\$195.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$954.29	1 / month	\$954.29		Ŋ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes: Tota	l Price = Price per mon	th		

2361237-02 Central Maintenance Facility-Fleet Service	es (not shop areas)-(4,4	13 sq. ft.)-Option A: Cl	ean office areas, bre	ak rooms a	and
entrance areas-5 times per week					
Supplier	er Unit Price			Attch.	Docs
A&T Property Management, LLC	First Offer - \$100.00	1 / month	\$100.00		
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
<u>SourceOne</u>	First Offer - \$100.00	1 / month	\$100.00		Ú
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$112.00	1 / month	\$112.00		Ú
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Fenway Enterprises	First Offer - \$375.00	1 / month	\$375.00		Ú
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
		Total Price = Price per	month		

2361237-03 Central Maintenance Facility-Fleet Services (not shop areas)-(4,413 sq. ft.)-Option A: Daily Restroom Services-5 times per week							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
A&T Property Management, LLC	First Offer - \$60.00	1 / month	\$60.00		Ŋ		

		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$73.00	1 / month	\$73.00	Ú		
		Supplier Product Code: Supplier Notes:				
SourceOne_	First Offer - \$100.00	1 / month	\$100.00	- U		
		Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$112.00	1 / month	\$112.00	J		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98	l O		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Total Price = Price per r		'		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SourceOne_	First Offer - \$85.00	1 / month	\$85.00		J	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Fenway Enterprises	First Offer - \$100.00	1 / month	\$100.00		Ú	
		Supplier Product Co Supplier Notes:	de:			
Spic & Span Commercial Cleaning LLC	First Offer - \$103.00	1 / month	\$103.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
A&T Property Management, LLC	First Offer - \$115.00	1 / month	\$115.00		Ð	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$572.57	1 / month	\$572.57		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month				

2361238-02 Central Maintenance Facility-Fleet Servicentrance areas-5 times per week	ces (not shop areas)-(4,4	13 sq. ft.)-Option B: C	lean office areas, brea	ak rooms a	and
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$95.00	1 / month	\$95.00		Ú)
		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>	First Offer - \$100.00	1 / month	\$100.00		Ð
		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$112.00	1 / month	\$112.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$300.00	1 / month	\$300.00		Ú
		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:
	Total Price = Price per month

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$65.00	1 / month	\$65.00		Ú
Product Code:	Supplier Product Co	de:			
Agency Notes:		Supplier Notes:			
<u>Fenway Enterprises</u>	First Offer - \$68.00	1 / month	\$68.00		J
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SourceOne_	First Offer - \$100.00	1 / month	\$100.00		Ú
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$112.00	1 / month	\$112.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$408.98	1 / month	\$408.98		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
		Total Price = Price per	· month		

2361239-01 Central Maintenance Facility-Fleet Servio	ces (not shop areas)-(4,4	13 sq. ft.)-Alternate: F	loor Reconditioning v	vhen requ	ested
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.15	1 / square foot	\$0.15		Ú
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	e:			
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú
Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per square foot for service			
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 1000 sqft minimum	e:		
Fenway Enterprises	First Offer - \$300.00	1 / square foot	\$300.00		Ú)
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SourceOne SourceOne	First Offer - \$595.00	1 / square foot	\$595.00		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

2361239-02 Central Maintenance Facility-Fleet Services (not shop areas)-(4,413 sq. ft.)-Alternate: Carpet Cleaning when requested						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$0.15	1 / square foot	\$0.15		Ú	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

1000 sqft minimum					
Goodwill Industries of Central Oklahoma		First Offer - \$0.29	1 / square foot	\$0.29	l l
Product Code:			Supplier Product Code	:	· ·
Agency Notes:		Supplier Notes:			
			Total Price = Price per square foot for service		
Fenway Enterprises		First Offer - \$200.00	1 / square foot	\$200.00	Ú
Product Code:			Supplier Product Code	:	
Agency Notes:			Supplier Notes:		
SourceOne_		First Offer - \$395.00	1 / square foot	\$395.00	Ú
Product Code:			Supplier Product Code	:	
Agency Notes:			Supplier Notes:		

2361239-03 Central Maintenance Facility-Fleet Service Windows	ces (not shop areas)-(4,4	13 sq. ft.)-Alternate: V	Vindow cleaning whe	n request	ed-Inside	
Supplier	Unit Price	e Qty/Unit Total Price Attch.				
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ð	
Agency Notes:		Supplier Product Code: Supplier Notes: \$5 per window				
A&T Property Management, LLC	First Offer - \$35.00	1/job	\$35.00		J	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
<u>SourceOne</u>	First Offer - \$95.00	1/job	\$95.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer - \$100.00	1/job	\$100.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: Total Price = Price per	de: floor per bldg serviced	I		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		J
Agency Notes:		Supplier Product Code: Supplier Notes: \$7 per window			
A&T Property Management, LLC	First Offer - \$45.00	1/job	\$45.00		Ŋ
		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>	First Offer - \$95.00	1/job	\$95.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$150.00	1/job	\$150.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$975.00	1/job	\$975.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Total Price = Price pe	ode:	i	

2361240-01 Central Maintenance Facility-General	Services Admin Whse-(10,7	00 sq. ft.)-Option A: C	lean floors 5 times pe	er week	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$271.00	1 / month	\$271.00		J
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
<u>SourceOne</u>	First Offer - \$295.00	1 / month	\$295.00		J
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Fenway Enterprises	First Offer - \$425.00	1 / month	\$425.00		J
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$1,192.86	1 / month	\$1,192.86		J
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
	Total Price = Price per month				
A&T Property Management, LLC	First Offer - \$1,205.00	1 / month	\$1,205.00		Ú
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

2361240-02 Central Maintenance Facility-General Se	rvices Admin Whse-(10,7	'00 sq. ft.)-Option A: 0	Clean office areas, bre	ak rooms	and
entrance areas-5 times per week					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$85.00	1 / month	\$85.00		Ú
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$271.00	1 / month	\$271.00		Ũ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SourceOne_	First Offer - \$295.00	1 / month	\$295.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Fenway Enterprises	First Offer - \$750.00	1 / month	\$750.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$817.96	1 / month	\$817.96		Ú
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes: Tota	l Price = Price per mon	th	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$110.00	1 / month	\$110.00		Ú
		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$216.00	1 / month	\$216.00		Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$271.00	1 / month	\$271.00		Ú
		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>	First Offer - \$295.00	1 / month	\$295.00		(i)

Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma		First Offer - \$613.47	1 / month	\$613.47		Ŋ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
			Total Price = Price per	month		

2361241-01 Central Maintenance Facility-Ger	neral Services Admin Whse-(10,	700 sq. ft.)-Option B: (Clean floors 3 times p	er week		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
<u>SourceOne</u>	First Offer - \$225.00	1 / month	\$225.00		J	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$250.00	1 / month	\$250.00		J	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Fenway Enterprises	First Offer - \$350.00	1 / month	\$350.00		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
A&T Property Management, LLC	First Offer - \$700.00	1 / month	\$700.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$715.72	1 / month	\$715.72		J	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes: Tota	l Price = Price per mon	th		

2361241-02 Central Maintenance Facility-General Ser	vices Admin Whse-(10,7	00 sq. ft.)-Option B: 0	lean office areas, bre	ak rooms	and	
entrance areas-5 times per week						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
A&T Property Management, LLC	First Offer - \$65.00	1 / month	\$65.00		Ú	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$271.00	1 / month	\$271.00		Ú	
Product Code:	Supplier Product Co	de:				
Agency Notes:		Supplier Notes:				
<u>SourceOne</u>	First Offer - \$295.00	1 / month	\$295.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
<u>Fenway Enterprises</u>	First Offer - \$650.00	1 / month	\$650.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$817.96	1 / month	\$817.96		Ú	
Product Code:	•	Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
		Total Price = Price per	month			

2361241-03 Central Maintenance Facility-General Seweek	ervices Admin Whse-(10,7	00 sq. ft.)-Option B: [Daily Restroom Servic	es-5 times	per
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$75.00	1 / month	\$75.00		Ú
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
<u>Fenway Enterprises</u>	First Offer - \$180.00	1 / month	\$180.00		Ú

		Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC		First Offer - \$271.00	1 / month	\$271.00	J	
Product Code:			Supplier Product Cod	e:	<u> </u>	
		Supplier Notes:				
<u>SourceOne</u>		First Offer - \$295.00	1 / month	\$295.00	Ú	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$613.47	1 / month	\$613.47	J	
Product Code:	·		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:				
			Total Price = Price per r	month		

2361242-01 Central Maintenance Facility-General Se	ervices Admin Whse-(10,	700 sq. ft.)-Alternate: F	loor Reconditioning	when requ	uested	
Supplier	Unit Price	ce Qty/Unit Total Price Attch.				
A&T Property Management, LLC	First Offer - \$0.12	1 / square foot	\$0.12		Ú	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
		Total Price = Price per s	square foot of service			
Spic & Span Commercial Cleaning LLC	First Offer - \$0.35	1 / square foot	\$0.35		Ŋ	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
		1000 sqft minimum				
Fenway Enterprises	First Offer - \$700.00	1 / square foot	\$700.00		Ð	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
SourceOne_	First Offer - \$950.00	1 / square foot	\$950.00		Ú	
Product Code:	•	Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				

2361242-02 Central Maintenance Facility-General S	ervices Admin Whse-(10,7	00 sq. ft.)-Alternate: Ca	arpet Cleaning wher	requeste	d
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - \$0.15	1 / square foot	\$0.15		Ú
		Supplier Product Cod Supplier Notes:	e :		
Spic & Span Commercial Cleaning LLC	First Offer - \$0.20	1 / square foot	\$0.20		Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: 1000 sqft minimum	e:		
Goodwill Industries of Central Oklahoma	First Offer - \$0.29	1 / square foot	\$0.29		Ú)
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Total Price = Price per s			
Fenway Enterprises	First Offer - \$350.00	1 / square foot	\$350.00		Ú
		Supplier Product Cod Supplier Notes:	e :	'	
<u>SourceOne</u>	First Offer - \$1,495.00	1 / square foot	\$1,495.00		Ú
Product Code: Agency Notes:	•	Supplier Product Cod Supplier Notes:	e:	1	

2361242-03 Central Maintenance Facility-General Se Windows	rvices Admin Whse-(10,7	'00 sq. ft.)-Alternate: V	Vindow cleaning wh	en request	ed-Inside
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ŋ
Agency Notes:		Supplier Product Code: Supplier Notes: \$5 per window			
SourceOne_	First Offer - \$195.00	1/job	\$195.00		Ð
		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$200.00	1/job	\$200.00		Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$400.00	1/job	\$400.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ð
Agency Notes:		Supplier Product Cod Supplier Notes: Total Price = Price per		d	

2361242-04 Central Maintenance Facility-General Ser Outside Windows, Ground Floor	vices Admin Whse-(10,7	'00 sq. ft.)-Alternate:	Window cleaning wh	en request	ed-
Supplier	Unit Price	Qty/Unit	Attch.	Docs	
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		Ð
		Supplier Product Code: Supplier Notes: \$7 per window			
SourceOne_	First Offer - \$195.00	1/job	\$195.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - \$325.00	1/job	\$325.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$400.00	1/job	\$400.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$976.00	1/job	\$976.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Total Price = Price per	de: floor per bldg serviced	1	

2361243-01 SW OKC Pioneer Library-(22,000 sq. ft.): Clean per specs under "D" of locations to be serviced in bid packet							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
<u>SourceOne</u>	First Offer - \$1,695.00	1 / month	\$1,695.00		Ú		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Spic & Span Commercial Cleaning LLC	First Offer - \$2,800.00	1 / month	\$2,800.00		Ú		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Fenway Enterprises	First Offer - \$2,860.00	1 / month	\$2,860.00		Ú)		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

A&T Property Management, LLC		First Offer - \$3,190.00	1 / month	\$3,190.00		Ú
Product Code:			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer - \$12,024.01	1 / month	\$12,024.01		Ð
Product Code:			Supplier Product Code:			
Agency Notes:		Supplier Notes:				
		Total Price = Price pe	r month for services			

2361243-02 SW OKC Pioneer Library-(22,000	sq. rt.): kecondition floor- Quart	eriy	1 1		
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
<u>Fenway Enterprises</u>	First Offer - \$800.00	1 / each	\$800.00		(J
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
A&T Property Management, LLC	First Offer - \$1,560.00	1 / each	\$1,560.00		Ú)
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
<u>SourceOne</u>	First Offer - \$2,195.00	1 / each	\$2,195.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$2,500.00	1 / each	\$2,500.00		J
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$5,220.00	1 / each	\$5,220.00		Ú
Product Code:	1 1	Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
		Total Price = Price pe	er quarter for service		

2361243-03 SW OKC Pioneer Library-(22,000 s	q. ft.): Extraction shampoo carp	ets, semi- annual			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fenway Enterprises_	First Offer - \$400.00	1 / each	\$400.00		J
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - \$1,250.00	1 / each	\$1,250.00		J
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
A&T Property Management, LLC	First Offer - \$1,260.00	1 / each	\$1,260.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$1,460.00	1 / each	\$1,460.00		Ú
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
		Total Price = Price per service			
SourceOne_	First Offer - \$1,995.00	1 / each	\$1,995.00		Ú
Product Code:	1 1	Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

Unit Price	Qty/Unit	Total Price	A 44 - I-	
		IOLAI FIICE	Attch.	Docs
First Offer - \$300.00	1 / each	\$300.00		Ú
	Supplier Product Co	de:		
	Supplier Notes:			
First Offer - \$486.00	1 / each	\$486.00		Ø
		Supplier Product Co Supplier Notes:	Supplier Product Code: Supplier Notes:	Supplier Product Code: Supplier Notes:

Agency Notes:		Supplier Product Code: Supplier Notes: Total Price = Price per month for service				
S		First Offers # 405.00	<u>'</u>		ο	
<u>SourceOne</u>		First Offer - \$495.00	1 / each	\$495.00	U	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Spic & Span Commercial Cleaning LLC		First Offer - \$500.00	1 / each	\$500.00	J	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Fenway Enterprises		First Offer - \$500.00	1 / each	\$500.00	- U	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$5.00	1/job	\$5.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: \$5 per window	ode:		
Fenway Enterprises Product Code: Agency Notes:	First Offer - \$200.00	1 / job Supplier Product Co Supplier Notes:	\$200.00 pde:		Ú
A&T Property Management, LLC	First Offer - \$1,200.00	1/job	\$1,200.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SourceOne_	First Offer - \$1,495.00	1/job	\$1,495.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - \$1,675.00	1/job	\$1,675.00		J
Product Code: Agency Notes:	1 1	Supplier Product Co Supplier Notes: Total Price = Price pe			

2361244-02 SW OKC Pioneer Library-(22,000 sq. ft.)-	Alternate: Window cleanir	ng when requested-C	utside Windows, Gro	und Floor	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer - \$7.00	1/job	\$7.00		Ú
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: \$7 per window	de:		
Fenway Enterprises	First Offer - \$275.00	1/job	\$275.00		Û
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
SourceOne	First Offer - \$295.00		\$295.00		Ú

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Goodwill Industries of Central Oklahoma	First Offer - \$1,120.00	1/job	\$1,120.00	- U
Agency Notes:		Supplier Product Code: Supplier Notes: Total price = Price per floor for service		
A&T Property Management, LLC	First Offer - \$1,500.00	1/job	\$1,500.00	N N
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	·

2361244-03 SW OKC Pioneer Library-(22,000 sq. ft.)-A	lternate: Window cleanir	ng when requested-(Outside Windows, Abo	ove Groun	d Floor
Supplier	Unit Price Qty/Unit Total Price			Attch.	Docs
Goodwill Industries of Central Oklahoma	First Offer - \$0.00	1/job	\$0.00		J
		Supplier Product Co Supplier Notes: NA. Not available for			
Spic & Span Commercial Cleaning LLC	First Offer - \$10.00	1/job	\$10.00		Ŋ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: \$10 per window	ode:		
Fenway Enterprises	First Offer - \$300.00	1/job	\$300.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
A&T Property Management, LLC	First Offer - \$1,000.00	1/job	\$1,000.00		J
Product Code: Agency Notes:			ode:		
SourceOne SourceOne	First Offer - \$2,195.00	1/job	\$2,195.00		J
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

2361245-01 Additional Services when required: Site Su	pervisor for Additiona	al Services when requ	ired			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Fenway Enterprises	First Offer - \$17.50	1 / hour	\$17.50		Ø	
		Supplier Product Coc Supplier Notes:	le:			
A&T Property Management, LLC	First Offer - \$18.00	1 / hour	\$18.00		Ú	
		Supplier Product Code: Supplier Notes:				
<u>SourceOne</u>	First Offer - \$21.95	1 / hour	\$21.95		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$23.60	1 / hour	\$23.60		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$25.00	1 / hour	\$25.00		Ú	
Product Code: Agency Notes:	,	Supplier Product Coc Supplier Notes:	le:			

2361245-02 Additional Services when required: Custo	onal Services when re	quired				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Fenway Enterprises	First Offer - \$15.00	1 / hour	\$15.00		Ð	
		Supplier Product Cod Supplier Notes:	le:			
A&T Property Management, LLC	First Offer - \$15.00	1 / hour	\$15.00	Ú	Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
<u>SourceOne</u>	First Offer - \$18.00	1 / hour	\$18.00		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Goodwill Industries of Central Oklahoma	First Offer - \$19.60	1 / hour	\$19.60		J	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Spic & Span Commercial Cleaning LLC	First Offer - \$22.00	1 / hour	\$22.00		J	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			

2361245-03 Additional Services when required: Mark	cup for supplies for add	itional supplies			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&T Property Management, LLC	First Offer - 50.00%	1 / percentage	50.00%	Ú	J
		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer - 10.00%	1 / percentage	10.00%		J
		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer - 6.00%	1 / percentage	6.00%		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>	First Offer - 5.00%	1 / percentage	5.00%		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Spic & Span Commercial Cleaning LLC	First Offer - 0.00%	1 / percentage	0.00%		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

2361246-01 Attachments: Green Initiative					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer -	1 / each		Ŋ	Ú
		Supplier Product Cod Supplier Notes:	le:		
Fenway Enterprises	First Offer -	1 / each		(j)	Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Goodwill Industries of Central Oklahoma	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: See a			
A&T Property Management, LLC	First Offer -	1 / each		Ú	Ú

Product Code: Agency Notes:		Supplier Product Code	e:		
SourceOne SourceOne	First Offer -	1 / each		- U	l (
Product Code:		Supplier Product Cod	e :		
Agency Notes:		Supplier Notes:			

2361246-02 Attachments: Cleaning Process					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer -	1 / each		Ð	Ú
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Fenway Enterprises	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: See attached.			
A&T Property Management, LLC	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SourceOne SourceOne	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	'		

2361246-03 Attachments: Anticipated workforce require	ements				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma	First Offer -	1 / each		Ú	J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: See attached.			
A&T Property Management, LLC	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SourceOne_	First Offer -	1 / each		Ú	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	'		

2361246-04 Attachments: Bidder's Current W-9					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Spic & Span Commercial Cleaning LLC	First Offer -	1 / each			

					U
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Fenway Enterprises		First Offer -	1 / each	Ú	Ū
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Goodwill Industries of Central Oklahoma		First Offer -	1 / each	l û	Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: See attached, including additio	nal document.	
A&T Property Management, LLC		First Offer -	1 / each	Ú	J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
<u>SourceOne</u>		First Offer -	1 / each	l li	Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		1

Supplier Totals

Bid Contact Joe Muller

jmuller@okgoodwill.org Ph 405-278-7145

Supplier rotals			
f Spic & Span Commercial Cleaning LLC	\$55,503.70 (160/160 items)		
Bid Contact Kammi Parsons	Address 36 W Memorial Rd Suite D-5		
<u>spicspan@att.net</u>	Oklahoma City, OK 73114	Ļ	
Ph 405-751-5577			
Agency Notes:	Supplier Notes:	Head Attch: 』	
f <u>A&T Property Management, LLC</u>	\$82,264.26 (160/160 it	:ems)	
Bid Contact Tay Ashford	Address 10700 Black Jack Ridge		
atproperty@yahoo.com	Road		
Ph 405-245-4112	Oklahoma City, OK 731	150	
Qualifications MBE			
Agency Notes:	Supplier Notes:	Head Attch 』	
f <u>Fenway Enterprises</u>	\$128,905.50 (160/160 iten	ns)	
Bid Contact Gregg E Dimery	Address 12050 Jaycie Cir		
<u>gregg.d@fenwayenterprises.com</u>	Midwest City, OK 73130		
Ph 405-471-4368			
Fax 888-407-7245			
Agency Notes:	Supplier Notes:	Head Attch: 』	
f <u>SourceOne</u>	\$150,077.95 (160/160 items	;)	
Bid Contact Parker Ferrell	Address 10400 E. 21st Street		
<u>parker.ferrell@sourceone-usa.com</u>	Tulsa, OK 74129		
Ph 918-551-6300			
Agency Notes:	Supplier Notes:	Head Attch: 』	
f <u>Goodwill Industries of Central Oklahoma</u>	\$165,355.53 (160/160 items)		

Address 316 S. Blackwelder Avenue

Oklahoma City, OK 73108

Oklahoma City, OK 73108

Agency Notes:	Supplier Notes:	Head Attch:
		Ú

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

	Print Close	
Tresha Williams	Randall Daniel	Angee Wagner
City Clerk	Auditor	Public Works

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.